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PART I / |7 I
CHILD DEVELOPMENT AND PEDAGOGY / &t frera 7 frememex
33 : [Aefcifaa yo1 & 37 37 & Iow gaq Ifea

Directions : Answer the following questions by
selecting the most appropriate option.

1

3.

Teachers, in order to help learners construct
knowledge, need to focus on

(1) scores/marks obtained by the learner.

(2) involving the learner for active

participation.

(3) mastering learning of concepts by the
learner.

(4) making sure the learner memorises
everything.

Giftedness from teacher’s point of view is a
combination of

(1) High Motivation — High Commitment —
High Talent

(2) High Ability — High Talent — High
Commitment

(3) High Talent — High Creativity — High
Memory

(4) High Ability — High Creativity — High
Commitment

According to NCF 2005, errors are important
because they

(1) provide a way to the teachers to scold the
children.

(2) provide an insight into the child’s
thinking and help to identify solutions.

(3) provide space for removing some children
from the class.

(4) are an important tool in classifying

students into groups of ‘passed’ and
‘failed’.

A child’s notebook shows errors in writing like
reverse images, mirror imaging, etc. Such a
child is showing signs of

(1) Learning disability
(2) Learning difficulty
(3) Learning problem
(4) Learning disadvantage

fasey 9T |

(fe

el & 7 o9 § gEEar 4 F w9 H
SEYeh! ] ThE T SH Figd HET AMEY ?
(1) Treneff % g g fpw U STwi/E W

2) e = wfpy gwfiar & fow e
T

3) i & g siftrm it srEywomed
SIS T HEAT
(4) gﬁ%ﬁm%ﬁrmﬁm@mm&

(4) I IFAT - I GoHHSA - IA
EECCRG)|

1. H.T%. 2005 F AR, TAfE T HROT

TEEqU B #

(1) 98 LAY ! =1 Hl Sl & o0 T
i1 Iy U &

2) I 9= & fmm & 3IqTeY HIT
2 a1 gHIYE S o HEEAT B
g

@) A BT Y S = Hl &CH & ¢ HER
IeTsH BT §

(4) Ig faenfit @ Seivd we ‘srgeiel wyE
gmﬁ%W@WW

wH s #I w9 fored # faudia ofaat, gdu
ofy, anfe S Tefeal fied € | 3@ R =
= T Sefia T ?
(1) ferm § r9rhar &
(2) At § fears &
(3) oAftrm ® W %
(4) i ¥ gl %
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(3)

emotional development of children ?

(1) No involvement of the teachers as it is
the task of the parents

(2) Controlled classroom environment

(8) Authoritarian classroom environment

(4) Democratic classroom environment

6. Teachers need to create a good classroom
environment to facilitate children’s learning.
To create such a learning environment, which

one of the given statements is not true ?
(1) Compliance with teachers

(2) Acceptance of the child

(3) Positive tone of the teacher

(4) Approval of the child’s efforts

7. Given below are some statements about boys
and girls. According to you, which one of these
is true ?

(1) Boys should help in household chores.

(2) All boys should be taught Science and
girls, Home Science.

(3) Girls should help in household chores.

(4) Boys should help in activities outside the
home.

8. To be an effective teacher it is important to

(1) focus on individual learning rather than
group activity.

(2) avoid disruption caused due to
questioning by students.

(3) be in touch with each and every child.

(4) emphasize dictating answers from the
book.

5.  Which one of the following is best suited for 5.

C
Ffeafea 9 @ 9o s=1 & gamers T
% fore watfiss 39 2 2
(1) 3749l i ws W ggwiiEar J8 ifs

g Har-far 1 w1 2

(2) wen-we & FuBe gy
(3) HE-H& T HAwREE! gfEw
(4) THEIT-HE T TSTAIES &

= % AREW H FWH T & g reATIHi
H TH oS HEHE GREAW H YA B I
AEHAT Bl B | 39 YRR F e giEw
F o HH 5 fou 9 R T HeE | |
HiAa 78 777 2 2

(1) SIEIHI & SFER HE HEAT

(2) o= H WHR HE

(3) ITYF HT GHNIHS T

@) =% v R

el Td wefel % fiva ¥ $8 s A= R

T E | AYH AR T § P-4 GE B 2

(1) WSH H W F FHE A FEEAT HEA!
1R |

@ wft deHi B famm qo @kt # e
fasm wern s =1y |

(3) wSfRal + W F HW A FERFAT H
=1 |

(4) TSH B W F W F HHE H gl
HET =M |

T THESTE! AeATfueT B % ffu a8 wewgel
2

(1) Tg Ty &% s Jafes fem =
&I &l

2) e % g s god % Fww s=
=auH $ ! HAT

(3) T® 9= & T § @&

(4) T 8 I B for@e W aF &
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9.

10.

11.

12.

13.

(4)

Which one of the following is not a suitable
formative assessment task ?

(1) Project
(2)
(3) Ranking the students

Observation

(4) Open-ended questions

Deficiency in the ability to write, associated
with impaired handwriting, is a symptom of

(1) Dyspraxia
(2) Dyscalculia
(3) Dyslexia
(4) Dysgraphia

According to Piaget theory, which one out of
the following will not influence one’s cognitive
development ?

(1) Social experiences
(2) Maturation

(3) Activity

(4) Language

Which of these does mot imply practical
intelligence in the Triarchic theory ?

(1) Thinking practically about oneself only

(2) Choosing an environment in which you
can succeed

(3) Adapting to the environment

(4) Reshaping the environment

“Anyone can become angry — that is easy, but
to be angry with the right person, to the right
degree, at the right time, for the right
purpose, and in the right way — that is not
easy.” This is related to

(1) Social development
(2) Cognitive development
(3) Physical development

(4) Emotional development

9.

10.

11.

12,

13.

frafafga # ¥ ®HE TH IUgEH AR
3Trher S TET R ?

(1) ufEeE

(2) IEErHA

3) ferenf w1 e sa fuiia e
(4) T A< I TH

ﬁqm%@mﬂamﬁﬁﬂf%@?rsﬁmﬁ
FH} RrEe T @& 8 2

1) T

(2) Teehesfomn

(3) fewifaaan

(4) feanfen

fa ¥ Rige % omEr, fefafes § &
Fra1 ST TS (S H AN T8
HAT ?

(1) \mEfee ¥

(2) ufgeEE

(3) Terameherd

(4) T§T

= ¥ ¥ wna i g @ e

gfg w1 A 77 2 ?

1) Faa a0 g § sEEiE 9 8 =R
FHAT

(2) 39 FHN F wErEw w1 wE s e
9 THA B Tehd &

(3) TATETOl & HTY ITHAA AT

(4) wateRoT 1 AR HE

“Frg off TS A THEA § — I8 FEH 2, T

s wdl =AfE % W, T AE A, @ A W,

& e & fou @ wé ale F AH
e e 2 17 uE weta R

(1) Gt G 8
(2) TFHCHS fawE &
(3) e faem @

(4) TETC faehrE &
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(5) C
14. Inlearning, assessment is essential for 14. iform # e frg o SewEs BT § 2
(1) Screening test (1) = giegn F f&u
(2) Motivation (2) WO H ﬁ"iﬁ
(3) Fostering of the purpose of segregation (3) gumr S Sofisw ¥ IevT Bl YicETEd
and ranking 23 % fom

(4) Grades and Marks @ e Q‘q’ S 1%1'?

15. Fitting new information into existing schemes
is known as

15. TEfAg Jrst § 75 AHehAl Sred # e am
Y S AT R ?

(1) H=EERe

(1) Equilibration

(2) Assimilation

2) HTHHIHT]
(3) Organisation 2)

(3) TIA

(4) GHESH

(4) Accommodation

16. We all differ in terms of our intelligence,

motivation, interest, etc. This principle refers | ¢ T mft 3 3@, ﬁ'{'ﬂﬂ, 31‘&'51%’, 31-@ % -,ga;}

i # firg g # | 7 g e 2
(1) Theories of Intelligence (1) 75'@ ¥ frgri &

(2) Heredity (2) W g

(3) Environment (3) YA |

(4) Individual difference 4) Safrs fmar e

17. Students of disadvantaged groups should be . . r .
taught along with the normal students. It 17. Sf@ HI@ ¥ faenfRil = am fefEt <

implies TIY-HTY TG AT | T A B
(1) Special Education (1) oo foram

(2) Integrated Education (2) T e

(8) Exclusive Education (3) AUaIe fIrem

(4) Inclusive Education (4) wuTaE TR

18 ‘Out-ofithe-box’ thinking is pelptedie ] e et
L el 18, ‘ifse-sitp-z-aied Fd fhud o=faE 2 2

(1) Memory-based Thinking (1 Hﬁ-m fere

, (2) Divergent Thinking (2) A9gr f&e=
| (3) Convergent Thinking (3) i faem
! (4) Consistent Thinking (4) RS e

e p—
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19.

20.

21.

22.

(6)

The assessment of students can be used by
teachers in teaching to develop insight into

(1) not promoting those students who do not

meet school standards.

(2) changing the teaching

according to the learners’ need.

approach

(8) creating groups of ‘bright’ and ‘weak’

students in the class.

identifying the students who need to be
promoted to the higher class.

(4)

Learning experiences should be planned in a
manner $0 as to make learning meaningful.
Which of the given learning experiences does
not facilitate meaningful learning for the
children ?

(1
(2
(3)

(4)

Formulating questions on content
Discussion and debate on the topic
Presentation on the topic

Repetition based on mere recall of content

Giving punishment, verbal or non-verbal, to
the children results in

(1)
(2)
(3)
(4)

protecting the child’s image.
improving their scores.
damaging their self-concept.

motivating them to work.

A teacher, labelled the head of a committee, as
‘chairperson’ instead of ‘chairman’. It indicates
that the teacher

(1) has a good command of language
(2) is using a gender-free language
(3) has gender bias

(4) follows a more acceptable term

19.

20.

21.

22,

foreror § et & g el w1 smweE
3 Irgree o fomfea A & forw fomm o
gehdl B :

(1) 3 Tenfoat =t gea 3 w1 W fGueE $
T % IR 6 8

foenfidat &t savawar & aFEn fem
YT H giEdad SET

we # ‘wfawmemedl’ 9w SEEn fafa
% HYg FFFT

H ol it wwum s 52 3=«
& o ied HE 8

St Ival S 9 YR 8 FEifwa fRa
s =i g aiftnm #t s s=3= o
a6 | = fiw mu aftrm sEEEl 3 8 SR
=i % fou wds oftem &t g @
22
(1)
2)
(3)
(4)

(2)

3

(4)

foea.a%g ® w99 s

ool W aiEEt 3 ae-faee
BTV TS Gl Tl
favaawg &t Fa@ IE = F FYR T
gt

T I Wi A1 == === w1 oo
BT 8

1) = 6 i hi T =

(2) % 3Nl § GUR =40 |

(3) I Y  Fia FauEm =1 T FT |
(4) % FE B B o wm = |
oAyt 3 F FHA = Ee = I %
WM W ‘gured’ e | % 550 a8 T

(1) WTST T =] Su=n v &

&) %ﬂiﬂm%lﬁm’;

@ T S EE S = e
wHE
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23.

24.

25.

26.

(7)

Continuous and Comprehensive Evaluation is
essential for

(1) dﬂutiné the accountability of the Board of
Education

(2) correcting less-frequent errors more than
more-frequent errors

(3) understanding how learning can be
observed, recorded and improved upon

(4) fine tuning of test with the teaching

In Lawrence Kohlberg’s theory, which level
signifies the absence of morality in the true
sense ?

(1) Level IV
(2) LevelI
(3) Level II
(4) Levlel III

Which one of the following is mot correct for
the progressive model of socialization of
children ?

(1) Children accept what they are offered by
the school irrespective of their social
backgrounds.

(2) There should be a place for democracy in

~ the classroom.

(8) Socialization is an adoption of social
norms.

(4) Active participation in the group work
and learning social skills.

The teacher noticed that Pushpa cannot solve
a problem on her own. However, she does so in
the presence of adult or peer guidance. This
guidance is called

(1) Pre-operational thinking

(2) Zone of proximal development
(8) Scaffolding
(4) Lateralization

23.

24,

25.

e

T TS S e e e arravas 20

(1) T St i SeRd w9 w0 * fo

@) el i T areh T e
q HH FA W H A Frel TehE wy

HYRAT

3) I8 wHgH % forw fp afrm %7 v v

el fpar wman 8, o e wmar @ 9
gan foar s whar B

@) R F @y whew w1 aene ey %
fore

AR Higea & fagra § war @ e
 srgufeata =t @ o1 § i w2 0
(1) TWIV

(2) I

(3) TRII

(4) TR II

frafafen & @ S w1 % gaheo
wfasfier Afewt % wedf § et 757 2 0

1) = foaeE § sa€ T W@ w5 o
A ¥ SR A wmfw geufy 5w of
7

(2) e § 6T & oY T BT wifaw |

(3) wwwSfsh wfors frast %1 st &

@ wE % § wEy gewfan aur gk
HIvEl 1 dRar |

e 3 e R g egd-amg Rt
T GHET 1 g T8 9 et & | 5 s
98 TH 99 1 9eft & wrieys i sufeufy
T FA B | 39 AvieE W w3

(1) q&-frareres fomm

2) aHfivey fawm = 8y

(3) HEIU &

(4) YTIEE

W,

"
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27.

28.

29.

30.

(8)

Which one out of the following provides
information about the roles and behaviours
which are acceptable in a group, during early
childhood period ?

(1) Teachers and Peers
(2) Peers and Parents

(3) Parents and Siblings

_ (4) Siblings and Teachers

Which of the following age groups falls under
later childhood category ?

(1) 18 to 24 years
(2) Birth to 6 years
(3) 6to 1l years
(4) 11 to 18 years

Aarjav says that language development is
influenced by one’s innate predisposition while
Sonali feels that it is because of the
environment. This discussion between Aarjav
and Sonali is about '

(1) Stability and Instability argument
(2) Continuous and Discontinuous learning
(3) Nature and Nurture debate

(4) Critical and Sensitive feeling

Making students members of a cleanliness
community to motivate them for the same,
reflects

(1) Behaviouristic approach to motivation
(2) Humanistic approach to motivation
(3) Cognitive approach to motivation

(4) Socio-cultural conceptions of motivation

Frefad § & # TR SeaEed JEtY %
2R 37 il Td SgEERl F AR H SEER
e W § S v T § =i § 2

(1) 3req9e ug gl

(2) @l wd -

(3) HTan-far wd WiE-sE

(4) WTEwEA Td AT

feffag § & FHE AP YR Ed(
STeTaEdT Sft % a7 ?

1) 18% 249
(2) SHE6TY
3 6#11aW
4 11§ 1899

Tk a3 2 T wr frra safh i Aafitn
gt @ s S & S e TEaE wA
3 fr g AW & wIE Bl @ | e SR
el % g g v e R R 2

(1) T g sifear W 989

(2) Tad a1 HAd IAH

(3) St @ TE-ge Jre-faErg
(4) TGO quT Feefe HrEHT

i ® wesw % fou Y@ FA R
ﬁﬁmaﬁﬁwwm,uﬁrﬁﬁa
T B

(1) Rom %1 FEERaTE! JYTH
(2) SROT w1 AHEAETE! SUFTH
(8) ST =T HHHTHH ITTH

(4) oT B AT EEp e FHeIT
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(9) (&
PART II / WTT 11
MATHEMATICS / o

Directions : Answer the following questions by

13391 : fmfrfea e & 37 37 & forg @aw If

selecting the most appropriate option. ICC T §ﬁF /
81.  The sum of place values of 5 in 6251, 6521 and |31. 6251, 6521 3R 5621 § 5 % Ty T £l
5621 is TR &
(1) 15 1) 15
(2) 5550 (2) 5550
(3) 5050 (3) 5050
4) 550 (4) 550
32. Which one of the following statements is true ? | 32- P ol & & P FIT AR 2
(1) The difference of an even number and an (L TH§H F@!TT 3R o foww e =T
T 9 H&IT & el 8 |

odd number can be an even number.

(2) The sum of two odd numbers and one
even number is an even number.

(3) The sum of three odd numbers is an even
number,

(4) The product of three odd numbers is an
even number.

A one-litre carton of juice is in the shape of a
cuboid and has a square base of size 8 ¢m by
8 cm. The depth of juice in the carton, in
centimeters, is closest to

33.

2) @ fowm demedt ok w @ e W
INTheT T TH G R |

3) o fawm dEmett %1 dew w Oy S
21

@ 7 fawm demed w1 pEeE w aw
TR |

TSt JF 1 fEsar R sty w5 2 afk

SHHT YR FHR, fEH AW 8 x 8 TH

2| ot # @ ) med (S #) fre

1ftres @iy gnft 2

(1 22 1 22
(2) 16 (2) 16
® 18 @ 18
4) 20 (4) 20

SPACE FOR ROUGH WORK / T% &Td & feT8 w118
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C (10)

34. Which one of the following does not match|gy fy=fafgg & & FHET yrafE e |
curricular expectations of teaching ; !
mathematics at the primary level ? e A urew=El swEsll % WY A g7
(1) Analyse and infer from representation of QTR ?

grouped data (1) afipa Atehel & Fregor i fawetwor s
(2) Develop a connection between the logical qen fased Feprer
functioning of daily life and that of @ M Hew afF Srfvome g
e e it g & e e w5
(8) Develop language and symbolic notations

with standard algorithms of performing ) o8 Sl

number operations T 3 i # e T el fermt =
(4) Represent part of whole as a fraction and L )
order simple fractions 4) fim =t Ti % 3y % w9 § WeRia w0
a9 ot fiel i Safed HE

35. The main goal of Mathematics education is
(1) to help the students to understand|3% Tiftre < e = gEr 2 R

mathematics. (1) TaenfEt s nfore gwea # g T |
(2) to develop useful capabilities. (2) IuAnft goaiat i faewfaa & |
(3) to develop children’s abilities for (3) w=at st ity Sfemedt w1 fasma T |
mathematization. @ ¥ vl iR 3% Al @ wdd
(4) to formulate theorems of Geometry and FT 8 GoH HET |

their proofs independently.

| 6. s wR W ewm, fag ¥ w«, wfey,
86. At primary level use of tangram, dot games, & =1 wa Rrai 6 -

patterns, etc. helps the students to i
(1) enhance spatial understanding ability. L 3 e &He 61 i & ﬂ% & ﬁ'm |

(2) develop sense of comparing numbers. (2) geAt gl <l sy faerfem 01 4 |
(3) strengthen calculation skills. (3) URHTH HIVE $ G 1 |
(4) understand basic operations. (4) TV EisHATeT B THIA H |

SPACE FOR ROUGH WORK / 7% @14 & fore sme
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37. From the unit of ‘Shapes’ the teacher asked 37. ‘;HW =31 IHEE W TGE Tt &
the students to “make/draw any picture by .

(11) Cc

using shapes”. “W % I9InT H HEEa & et ot G|
The objective that can be achieved through E3) T F6” % T FEAT B |
i @ frammem & fofefen § @ S st
(1) Knowledge T fRaT ST T 2o
(2) Comprehension (1) 33
(3) Creating (2) wwg/EY
(4) Application @) =
(4) I

38. Arjun, a student of class IV, is able to answer :
all questions related to Number System orally, 38. & IV H BH, aﬁh AT el & T

but commits mistakes while  writing G‘ﬁ Sl 1 IW Afas w9 F % Tl 8, RAS|
the solutions of problems based on Number &A1 YOIt 9T 3mmamhig AT % 7 forem o
System. The best remedial strategy to remove TAfoEt #ar & | o o 3t FH #r gura

errors in his writing is % T T =t syaTTaTs qede 2

(1) to relate real life experiences with (1) dr=fas Sfag IFyEl i
mathematical concepts. _ GWTSﬁ % 1Y g HET |

(2) to provide him a worksheet with partially | (2) I T FiuTE 2 g Loter 1]
solved problems to complete the missing 1% w9 & T T F ek W @
gaps. TIH 9 F |

(3) .to teach more than one way of solving -

3) & et i gmEn wm o

problems of Number System. = Y I Tl fRramr 't:@ fere

(4) to give him 10 practice tests. 4) I8 10 37ATH gfiemd ¥ |

39. What is the value of

~1+2-344-5+6-7+.. 410002 9. -1 +2-3 44 -G

(1) 2000 e
(1) 2000
2 o @ 0
3 1 @) 1
(4) 500 4 500 f

SPACE FOR ROUGH WORK / 7% & oo s
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40.

41.

42,

43.

(12)

Perimeter of a square is 44 cm. The perimeter
of a rectangle is equal to the perimeter of this
square. The length of the rectangle is 5 cm
more than the side of the square. The sum of
areas (in cm?) of the square and the rectangle
is

(1
(2)

229
169
(3) 140
(4) 217

As per the NCF 2005, the narrow aim of
teaching Mathematics at schools is

(1
(2)
(3)
(4)

to develop numeracy related skills.

to teach algebra.

to teach calculation and measurements.
to teach daily life problems related to
linear algebra.

Ravi has three dozen chocolates. He gave
one-third of them to his neighbour,
one-sixth to Rehana and one-fourth to his
sister. How many chocolates are left with
him ?

(1) 10

(2) 6

(3) 8

4 9

A child who is able to perform all number

operations and is able to explain the concept of
fractions is at

(1)
(2)
(3)
(4)

operational phase
emergent phase
quantifying phase
partition phase

40.

41.

42,

s it H GRAY 44 FAHR B | TH AT H
ofers =g it ¥ UREY ¥ SO § | o i
oraré i B gen @ 5 A wfs ® | i
3R Ea ¥ SFwa (Y o) F1 ATHA R
(1) 229
(2) 169
(3) 140
4) 217

T el SR 2005 % STER, rereE

3 wifra fegor 1 Gehivl 2T 2

(1) HEATeHS Hive & fawE |

(2) SiomTiE 9@HI |

(3) dftehe @ HI9H 9GHT |

() Rgw diwie & awfa 2 e i
gaat 6 e |

1 ¥ uE 9 ooF ke & | 38 6
w-REE WM o YSEl W, TH-Sedl Wil
WA W R UmAeE W AT 98w Q
o | 309 UTE 39 Tl Sl 991 8 2
(1) 10

(2) 6

(3) 8

4 9

wF w1 fm smen § wff den gl
Hhmarat @ w@ § wym ? qun U % aved
6 SaTE A § EE 8, 98 39T @
(1) HisRaTeH® e

(2) IO aedn

(38) wftmmoTeRs rEEA

(4) TassETCRS oTEEd

SPACE FOR ROUGH WORK / & T4 o fore smrg
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44. A teacher introduced multiplication in her|44. U JTeATUT 9 ey o o7 H FRAR e
class as repeated addition and then by WM A Se F wW O war @ § | 3wk g
grouping of same number of objects taken T HE $i a‘@ﬁ T HHET T I ®®IH
multiple times she introduced the ‘<’ symbol st 8 | doaveEr fam o0 & aitRa s 7
and further conducted a small activity of Y1 I OHEA T FA * fere -t
finding product using criss-cross lines or T s w6 difert i BT § TH
matchsticks. Here the teacher is Bia e FUd & | 78 srefe o EEd)

(1) wusing multiple representations to make 2
the class interesting. (1) & A< 1 F o wwaE
SRR |

(2) developing a lesson and taking students

‘from concrete to abstract concept’. (2) ‘rgf Ll 311{«-? qyd it A F w9 F Th
(3) catering to learners with different pre ' ‘ J
learning styles. 3) fafim farm el g Sk =
1 @7 |

(4) providing remedial strategies for low 2 ,
achievers in mathematics. (4) TG § w9 g% F=b & o IrErers

Al JEH T |

45. Akanksha wants to become @ good|45. IHE TE B TH e AN =T
mathematics teacher. To be a good TEdt 3 | @ o= s fom

mathematics teacher she must have Aava & % 39 g -
(1) conceptual knowledge, understandingl () TPty feTasm =t aa3E shaw &

and ability w celate,

N

comdemd ==X T e T, . e e 3
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47.

48.

(14)
46. ®1 ¥ T FEARSEIE  GRareg a9

It is important to conduect mathematical
recreational  activities and challenging
geometrical puzzles in the class as

(1) they bring students out of the
monotonous and boring routines of
mathematics classroom.

(2)
(3)

they give space to gifted learners.

they are helpful to enhance spatial and
analytical ability of every learner.

(4)

they can create interest in low achievers
and slow learners in mathematics.

‘Vedic Mathematics’ is becoming popular
nowadays especially amongst primary school

children and is used to enhance

(1) the problem solving skills of students in
mathematies.

(2) the concentration of students in
mathematics.

(3) the calculation skills and speed in
mathematics.

(4) the  algorithmic understanding of

students in mathematics.

Formative Assessment in Mathematics at
primary stage includes

(1)
(2)

identification of common errors.

testing of procedural knowledge and
analytical abilities.

(3) grading and ranking of students.

(4) identification of learning gaps and

deficiencies in teaching.

47.

48.

A ST gfoal wreet fharey
HEEqUl & il

(1) 9 fenf¥igi = s9dh afm s 6
THETdl g1 2 =91 F HRO B arelt
TS § S A # |

3 yfumeh Wanfiat 5 s s
TGH A B |

3 v el i vonfrs 3 favemomars
FrraT % Hagd H G B |

3 niftre & w0 v RenfiEt qur 9e ofa
g "y ot et #§ +fy seam w3 &
TETS B B |

(2)
(3)

(4)

e fere’, srowa iy w=w § oyl
forener % s=it # wgd A BT ST @ R |
o v faafafea @ & feus fwm/mad
HEa g2

(1) faenfiat & nftm & gen oy S
(2 ferenfda 6wt & wwmar

T § TOMT & HIee 991 Tfa

faenfiiai 6 nftm & fterem fean
SLE

(3
4)

s ST § TG § EAHS godied §
Frafifea 2
(1) am= It = e |

@ Tramomefi & §m ek ﬁxéqua
wawreRt i ader | _
e % g (3oft) i T (feufa) |
Jferm # IrEfa wt ai Rreor F wE
T YEETAT |

(3)
(4)

SPACE FOR ROUGH WORK / T% T & feru smg
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49,

50.

51.

(15)

A teacher uses the exploratory approach, use
of manipulatives and involvement of students
in discussion while giving the concepts of
mathematies. She uses this strategy to

(1) develop manipulative skills among the
students.

(2) create a certain way of thinking and
reasoning,

(3) achieve the narrow aim of teaching
mathematics.

(4) achieve the higher aim of teaching
mathematics,

A teacher asks Shailja of class V about the

perimeter of a figure.

She also asked Shailja to explain the solution

in her words. Shailja was able to solve the

problem correctly but was not able to explain

it. This reflects that Shailja is having

(1) poor understanding  of concept of
perimeter but good verbal ability

(2) lower language proficiency and lower
order mathematical proficiency

(3) lower language proficiency and higher
order mathematical proficiency

(4) poor confidence level and poor
mathematical skills

The section, ‘Practice Time’ included in
different topics in Mathematics textbook aims
at

(1) having a change in daily routine
(2) ensuring better utilization of time

(3) providing extended learning
opportunities

(4) providing fun and enjoyment to students

50.

51.

2 & fftes wr 6 O g Arfeherar
foemfém w0t % fore

(3) wﬁmﬁm%wmﬁm%m

(4) Wﬁmﬁm%mmﬁm%%ﬁ

qasﬁrf‘mmmvsﬁﬁamﬁ@a@ﬁ%

IRATY % AR F gt 2

a@lﬁwﬁmmaﬁmﬁmﬁ‘fﬁma&

%ﬁﬁ?ﬁ%lﬂwmwaa‘rﬁw&

Hmeﬁqvg'amﬁmmﬁﬁm?ﬂeﬁl

%ﬂmﬁﬁnﬁmﬂa&hmi:

(1) wﬂwm%éumaﬁwwgv@m
TifEs Frear

(2 ﬁnmﬂwﬂmmaﬂtﬁqm
i wefory

3) ﬁnmﬂwmmsﬂtmm
et Sreftorar

(4) wmmwwwﬁmm

nﬁmﬁw&mﬁﬁﬁmmﬁﬁm

‘ammma’aﬁmﬁmmﬁwﬁw%

) 3 et § sgam war

(2) 9 1 ST WgwE ghfvaa we

®) forga sl srer wem T

(4) ﬁmﬁﬁaﬁmaqﬁﬁmm

SPACE FOR ROUGH WORK / 1% %13 % forg g
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52.

53.

(16)

13 students of class V A and 15 of class V B
participated in a writing competition. They
scored marks as follows :

ClassV A 14, 6, 15, 12, 11, 11, 7, 9,117, 13,
3,10,18
ClassVB 13,9,0,7, 14,6,0,9, 16, 9, 13,

16,5, 18, 11

What inference can you draw from the given
data ?

(1) Class V A performed better because the
average score of V A is more.

(2) Both the sections performed equally well
because the total marks scored by both

the sections are the same.

(3) Both the sections performed equally well

because the average marks of both the
sections are the same.

(4) Both the sections performed equally well

because the highest score of both the
sections is 18.

1 6
How many — in — ?
many 7 are in -

(1) 5
(2) 12
(3) 10
4) 8

52.

53.

w1 ufg ‘A * 13 Taremefi @en w&m Ui T F

15%@1191?@@1@?;%@@13113%@1@%% |

w%gm:ﬂﬁia_aiiﬁ'sam%:

FATV A 14, 6, 15, 12, 11, 11, 7, 9, 17, 13,
3,10, 18

FAVE 13,9, 0,7, 14, 6, 0, 9, 16, 9, 13,
16, 5, 18, 11

ﬁmaﬁ@ﬁﬂmwﬁw&ﬁmm
g2

(1) FET V 31 H eI Jgal @, Hifh V A
1 aftea TS 3 R |

2rt il w1 Seda FHE T, i Qi
Sumit 3 g ST F 3 T § |
arﬁﬁwﬁmmhwrsr,aﬁﬁﬁaﬁi
fmii % g Wi i 1 INEd THAT
2

(@) aﬁﬁwﬁaﬂm&hm@,ﬁ%aﬁ
fum % g ST iR 3Rl HAH
18% |

(2)

3)

6 Ffpm L #2
5 10

1 5

@ 12

(3) 10
(4) 8

SPACE FOR ROUGH WORK / T & forg we
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55.

56.

57.

(17)

On dividing 110111 by 11, the sum of the
quotient and the remainder is

(1) 11001

(2) 10101

(3) 10011

(4) 11011

What should be subtracted from the product
102 x 201 to get 19999 ?

(1) 602

(2) 103

(3) 401

(4) 503

Which of the following is not correct ?
(1) 2 kg 30 gis the same as 2030 g
(2) 3 litres 80 millilitres = 380 millilitres

(3) Area of a square of side 10 cm = Area of
the rectangle of length 100 em and
breadth 0:01 m

(4) 3 hours 14 minutes = 194 minutes

Number of degrees in two and two-third of a
right-angle is

(1) 270
(2) 180
(3) 210
(4) 240

54,

55.

56.

57.

L ———

C
110111 & 11 q WM W W wmed g
B H ATH 2
(1) 11001
(2) 10101
(3) 10011
(4 11011
T 102x201 § & 1 wemn W arf
19999 9T & 2
(1) 602
(2) 103
(3) 401
(4) 503

Freforfes 4 & s w727 2 2
(1) 2 Framm 30 7™ = 2030 7
(2) 3 e so faferefier = 380 fiftrefien

® 10 ¥l gon T T W Ewew -

100%%#3&10-01!&2{#@_&
I G F SAAES

4) 39 14 e = 194 i
aaﬂx‘q’f-ﬁmimﬁuﬁﬁ%ﬁﬁﬁm%

(1) 270
(2) 180
(8) 210
(4) 240

SPACE FOR ROUGH WORK / 1% %4 & ferq wmrg
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C (18) :

58. (Sum of multiples of 7 between 21 and 49) + |58. (21 A 4oF AT H T’ﬁh 1 IR ) +
(Biggest common factor of 25 and 30) is equal (25 37T 30 qe8 §e1 9 -Tq;\-@g) U 2
to '

(1) 37 (1 37
(2) 14 (2) 14
(& 31 3 21
(4) 35

: (4) 35

59. The sum of all the positive factors of 96 is 59. 96%F — T —. 3

(1) 252
(1) 252
(2) 155
(8) 156 (2) 155
(4) 251 (3) 156
(4) 251

60. A train leaves a station at 6 : 14 am. and
reaches its destination after 13 hours 60. -qa; W qa; ém -a 6:14 am ™ W

48 minutes. The time at the destination is O T T w 13 & 48 B a
(1) 8:12p.m. ﬂéﬁaﬁ%iwwmv@ﬁmm%
. (2) 7:02p.m. (1) 8:12p.m.
(3) 7:12p.m. : (2) 7:02p.m.
(4) 8:02p.m. (3 7:12pm.
I (4) 8:02p.m.

SPACE FOR ROUGH WORK / T% w & forg e
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Directions : Answer the following questions by
selecting the most appropriate option.

61. NCF 2005 has not recommended any
prescribed curriculum and text-books for EVS
for classes I and II. The most appropriate
reason for this ;

(1) EVS is only for class IIT onwards

(2) Learners in class I and II cannot read
and write

(3) To  provide contextual learning
environment

(4) To reduce the load of curriculum

62. A teacher has to teach about cultural diversity
in food in our country to class IV students.
Which of the following is the best way to teach
this topic ?

(1) Give a project to students about different
kinds of food taken by the people of
various states in our country.

(2) Ask students what they have eaten,
followed by a discussion.

(3) Ask students to collect information about
the kind of food taken in their family.

(4) Show flash cards having pictures of
various food items.

63. All of the following are indicative of the
general approach to be followed for EVS in
primary classes except from

A. concrete to abstract

B. simple to complex
C. local to global

D. abstract to concrete
(1) OnlyD

(2) Only AandB

(3) OnlyBandC

(4) OnlyB

(19)

62.

PART III / 97T III
ENVIRONMENTAL STUDIES / 9gferor stsaaa

TS qIG=r=rat @1 (NCF) 2005 ¥ &7 1 31k

I % U wiew sierm % feft qremg o

TGkl K T T A R | s Rwm

Y 39T FA B ;

(1) WA eqeq Faa wam 01 § o1 6
HeeAt & forw 2

(2) ;T%Iaﬂtn%ﬁm‘f,w-%ﬁmﬁ

(8) HeWIh N @y Yo
(4) UISTHA FHT 91 FHH FH F foqu

U STEATS H HET IV et #i gan 2w

%Wﬁmﬁﬁmﬁmétw

fova 1 wen % fow waton fafy fefifas &

TR ?

(1) I w1 % fafim ot % fafim ot g
U SH A fafew e ¥ oar 3
feremfSiat =t sise (sfwsm) 3 |

2) foenfEt @ 93 5 55 w1 @ 2, <9
q1g =91 HL |

@) foenfidai & %8 /5 3 oY ohar & siem
% TR § gu @ |

@) faftm yom 6 @m # e ¥ Rl o
A H1E @ |

(1) %I D
(2) %99 AR B
(3) %ad B3R C
(4) ¥a9 B
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65.

(20)
64. ﬁm%%aar%mwmaﬁ\ﬁq:

Study the following table :
June |December
2007 2014
Price of petrol in ¥/litre | 47-74 61-33
Price of diesel in ¥/litre | 35-21 50-51

After studying the above table, Devmeet a
class V student, wrote the following in his
notebook :

A. Petrol is a more expensive fuel than
diesel.

B. The percentage increase in price of diesel
is more than that of petrol.

C. Diesel is cheaper and ‘that is why public
transport runs on it

D. Diesel is a cheaper fuel than petrol.
People should buy diesel vehicles.

Which one of the following is correct ?

(1) C and D are inferences

(2) AandD are observations

(3) AandC are observations

(4) BandC are inferences

Mahika, a teacher of class V, wants her
students to observe the plants in the
surroundings. For meaningful learning, what
should she encourage the children to do ?

(1) Appreciating that plants are useful for us

(2) Writing the names of maximum number
of plants

(3) Observing the difference in their heights,
leaves, smell and place of growing

(4) Understanding that plants are living
beings

Which of the following should mot be an
appropriate indicator for assessment in EVS
at primary level ?

(1) Questioning

(2) Concern for justice and equality

(8) Cooperation
(4) Remembering

3 | femwR
| 2007 | 2014
et 1 e T AR H| 4774 | 6133
v 1 g /A H| 3521 | 5051
aﬁmmmm@%ﬁmmmv%
ﬁmﬁﬁiaﬁaﬁm:hzgﬁﬁ%%@:

A. ﬁgﬁa:ﬁmﬁaﬁmmﬂ?ﬂ%%l
B. ﬁ@aﬁmm%@ﬁq@m
yferera z1fees 2 |

C. S T R A FEA D GREE ¥
g & |

D. m‘aﬂ@a%w%%lﬁhﬁﬁ
Wﬂ?ﬁﬂ%ﬁ@'ﬂa‘ﬂml

s # & SR R ?
(1) caen D e 2
(2) AT D Y& &
3) Add C & €
4) B C e &

FET V mﬁwmm%%w
ﬁmﬁm-m%ﬁ%ﬁmaaaﬁﬁ# | e
aqﬁm(aﬁa%)%%ﬁaﬁﬁﬁaﬁwmﬁf
foru Sreanfia AT =MET ?

(1) mﬂt%ﬁ%w&ﬁmwﬂ@ﬁ%
) arfrgram i & A ferE

(3) mﬁiﬁé,wﬁm’i,ﬁﬂaﬂtwﬁ%w
B 3Tt 1 AR BA

4) wEgE f6 de +ff gofa B &

qu{wﬁmm%aﬂw
ﬁﬂ%f\@ﬂﬁﬁﬁ?-mwmmg‘vﬁ
27

(1) S g

(2) =g 30 gEEa % wfa fea

(3) @@

(4) T WA
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67.

69.

70.

———————MMMWWUSS

(21)

Your principal asks you to take class V

students on an educational visit. What would

you include while planning for such a visit to

make it meaningful ?

(1) Asking students to find and read the
information about the place to be visited

(2) Taking enough food and games to enjoy

(3) Ensuring that students should be
disciplined and should visit the place
quietly

(4) Preparing structured activity sheet about
the place to be visited and sharing the
same with the students before the visit
for an authentic and meaningful learning

Stories and poems can be effectively used in

teaching of EVS at primary level. The main
purpose of using them in EVS is to
(1) providing contextual learning

environment
(2) make lessons enjoyable
(3) promote linguistic skills

(4) cater to diversity in classroom

How would a primary teacher -effectively
assess her students of class IV on the topic of
“Searcity of water” ?

(1) Conducting a written test on the above
topic

(2) By finding out how they have started
saving water in their day-to-day life

(3) Organising a poster making activity on
water conservation

(4) Asking children to write slogans on
saving water

‘Mapping’ at primary level promotes which of
the following skills in learners ?

(1) Calculations and Estimations

(2) Drawing according to scale

(3) Idea about

relative positions and

orientations
(4) Neat drawing

67.

69.

70.

C

AH JIHEER Y AYH FET B wE V F

foenfir # i el = F R @

I | 39 ISR AT H ardE g9 F e

A9 Y AT | w1 wiferg a2

(1) &1 I & 36 9R § I I S
3R ygd & o fenfdfRa =t s

(2) < # fou i 9iem ik @« =
a1 A A

(3) & ghfesa won % faenefl s @
3R 39 TIH T Aifage e Ht

(4) Torarpemdl i v wlidd e 39 wm F
TR § AR @ AR g qur ards
A & forw 39 el & oy 9= @
9 |

TgHs TR W qafew st & e #
FEE R wigaradi w1 wwEht @1 7 35w
foran <1 gewar B | yateror v & s I9Em
1 U&7 39 &

(1) #Hhe % fou gevne e el FE
(2) UIEl Hl AH<EIF ST

(3) WIfYeh HIFA! I FSET &1

(4) hen < fafawar $i gfd

T MUl T i e Sawe” ¥ fawg

W HH FE IV & T B IHEG a0F §

fora g STt 2

(1) Ig® fava m = foflss ofar =
I

(2) I8 U1 F o6 I8 o s g o
et St FET HY T FHI B

(3) T TV H G §AM I Tfafafy @
SIS

(4) F= B A GO W IR e F
FER

Wi ¥R R A faee & fenfiE &
Frfafaa 4 & fora s #t @ e 2 2
(1) T SR SERE

(2) WY % AR fom @

3) wmy feufa i ey <t s=e

(4) TH-GYU @i

ot
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71.

73.

74.

(22)

This plant has leaves which are used as
vegetables. Its seeds are used to produce oil.
The plant is

(1
(2)
(3)
(4)

Coconut
Cabbage
Mustard
Spinach

Which one of the following is a set of diseases
caused/spread by mosquitoes ?

(1) Cholera, Dengue, Malaria

(2) Chikungunya, Dengue, Malaria
(3) Chikungunya, Cholera, Typhoid
(4) Chikungunya, Malaria, Typhoid

On a state map, at its one corner it is
mentioned “Scale 1 em = 110 meters”. If on the
map the measured distance between any two
cities is 9-7 c¢m, the actual distance between
the two cities is approximately

(1) 2:01km

(2) 11km

(3) 10km

(4) 1-067 km

Study the following statements about bronze :

A. It is an element like aluminium, iron and
copper.

B. It is made by melting copper and tin in a
furnace.

C. Tribal people have been using bronze
since thousands of years.

D. The objects made of bronze are lighter
but much stronger than those made of
aluminium.

The correct statements are
(1) OnlyBandC

(2) A,BandC

(3) B,CandD

(4) OnlyAandD

71.

72.

73.

74.

@)

wﬂﬁﬁqﬁ!ﬁ%‘ﬁ%ﬁr@?ﬁﬁmmﬁ
AT AT R | 3ES e @ act e feRa ST
21 aE e R

(1) s

(2) st

(3) @@l

(4) YIS

frefafa § & FF-E Teet @ B/ AR
Tt 1 TH=E § ? '
1 &, &, WA

2 faemfE, 3, s

(3) fammfen, &0, FMEr gEr

@) T, woifern, R e

frdt T % TEfEE % T R W I fon e

“Sper 1 A = 110 W | AR T AHRE T

5l o Wt % o9 A gt 9.7 Al ATt S

3 @ &9 o wEd & o I anetash gl ¢

T

1) 201 feft

(2 11

3) 10 fet

(4) 1067 Tt

wHiar (31) F n § Fefafaa Hoi

mﬁﬁq:

A TE YgfufiEm, o S HI S #
a B |

B. 38 Wi § HR 3 T i et &
EicIEE

c.  ayfeam @ st @1 IR g AN
R

D. 3 i o aeqe At & s 9
# g o gl Teg FE AfUS A
(o) At & |

1 Tl A B

(1) ¥aa B3R C

2 A,B3WC

B,C 3D

(4) FaA AMMD
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75.

76.

77.

(23)

Which of the following is/are tools and |75,
techniques of assessment in EVS at pPrimary
level ?

A.  Project work

B. Field trip

C. Journal wﬁting
D. ' Concept mapping
(1) Only D

(2) A,B,CandD

(3) Only A andB

(4) OnlyB and C

76.
Which one of the following strategies seems

most appropriate for teaching maps to

Primary graders ?

(1) Instructing learners to bring the map of
India from their home

(2) Showing an atlas to learners and asking
them to locate different places

(3) Facilitating learners to construct maps of
their immediate surroundings by using
their own symbols and focusing on
relative position and direction of things

(4) Drawing of the map by the teacher on the
black-board and asking learners to locate
different places

Which one of the following should be g most | 77-
important aspect of EVS teaching at primary
level ?

(1) Achieving success in assessment

(2) Understanding the basic concepts of
science

(3) Connecting learners to the natural and
socio-cultural environment

(4) Conducting activities and developing
skills

Cc

ﬁw%%aﬁﬁaﬁq-%mwﬁa:wwwhm
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C. S (Journal) fr@ar
D. fo=uR amfimm

(1) *aa D

(2) A,B,C 3kD

(3) Haw A3 B

4) w9a B3k ¢
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79.

(24)
78, watawl eaEd % o @ 37 ufem ol

Teaching of EVS should encourage process
skills, which are the core of inquiry-based,
hands-on learning. Which one of the following
is not such a skill ?

(1
(2)
(3)
(4)

Determination

Inferring

Observation

Predicting

Study the following statements about the

Jhoom farming practised in Mizoram :

A. After cutting one crop, the land is left as
it is for some years.

B. The bamboo or weeds which grow on that
land are cut and burnt.

C. The land is deeply ploughed before
sowing the seeds.

D. In one farm three or four different types
of crops are grown.

E. Chemical fertilizers and pesticides are
also used as per need.

The correct statements are
(1) A,BandD

(2) OnlyAandB

(3) OnlyBandD

(4) C,DandE

Radha uses travel tickets of different types.
Which of the following concepts could be
effectively discussed by using such tickets ?

A. The cost of travel by different means is
different.

B. The cost of travel depends upon the fuel
used by the vehicle.

C. We need tickets to travel by public
transport from one place to another.

D. Understanding the reservation process.
Choose the most appropriate option :
(1) AandD ;

(2) AandC
(3) BandC
(4) CandD

79.

Fvw | dgEn w91 =ifEY S AR
e TeaE vEl & hglag § | P

# & FE U v v TE7 8 ?

(1) Fuaio

@) frsnd e

(3) SATATHA

(4) EIAE
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51 A% A1 DI ad © |

B. 39 4l W I I i@ AN GAAR 3
et Sl fean o 2 |

c. w9 ¥ vga qft A TEh JaE A AR
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D. UH & @d # dH-an e R s
HEe IS A 2 |
HrearerRt 1 Ivan ot R s # |

T a@ U 8

(1) A,B3MRD

(2) el AR B

(3) Fad B3R D

4) C,D3RE
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aafﬁaﬁsqg?ﬁﬁrmﬁﬁq

(1) ASRD

2 AIRC

(3) B3 C

(4) C3RD
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82,

If we observe birds, we find that most of the
birds often move their neck. It is because

(1) their ears are covered and they can fly.

(2) the birds have two eyes.

(3) their eyes can focus
objects at a time.

(4) in most of the birds, the eyes are fixed
and cannot move,

on two different

Reena loves mangoes. She wants to preserve

these for winters. Which one of the following is

a good way of pPreserving them ?

(1) Prepare juice and store in an airtight
container.,

(2) Put in a plastic bag.

(8) Storeina refrigerator.

(4) Make ‘aam papad’ and pickle,

Which one of the following animals’ front teeth

keep on growing throughout its life ? It has to

keep gnawing on things to keep its teeth from
ming too long.

(1) Squirrel

(2) Lizard

(3) Rat

(4) Termite

A farmer is growing paddy crop over and over
again using excess of fertilizers and pesticides
in his fields. This practice will make the soil of
his fields

(1) fit for ploughing

(2) barren

(8) fertile for other crops also

(4) useful for the paddy crops only

The neighbouring states of Kerala are
(1) Karnataka and Maharashtra

(2) Andhra Pradesh and Karnataka
(3) Karnataka and Tamil Nadu

(4) Tamil Nadu and Andhra Pradesh

In which one of the following states of our
country do most people like to eat sea fish
cooked in coconut oil ?

(1) Goa

(2) Jammu and Kashmir

(3) Bihar

(4) Mizoram

(25)

81.

82,

C
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87.

89.

(26)

Study the following statements about “Desert | g7,

Qak”:

A. Desert Oak is a tree that grows almost as
tall as our classrooms, i.e., about
4 meters.

B. The roots of this tree go down nearly
30 times its height till they reach water.

C. Water is stored in the trunk of this tree.
D. This tree is found in Abu Dhabi.

The correct statements are
(1) B,CandD

(2) OnlyAandB

(3) A,BandC

(4) A,BandD

A person boarded a train on 02.01.2015 |88.

at Madgaon for Nagercoil. The train departed
from Madgaon at 07 : 45 hours and reached
Nagercoil at 04 : 45 hours on the next day
i.e., 03.01.2015. If the distance between these
two stations is 1140 km, the average speed of
the train was approximately

(1) 51km/h
(2) 59km/h
(8) 57km/h
(4) 54km/h

A person living in New Delhi wants to visit
first Bhopal (Madhya Pradesh) and then
Ranchi (Jharkhand). The directions of his
journey will be first towards

(1) west and then towards south
(2) south and then towards east
(3) south and then towards west
(4) east and then towards south

Which one of the following characteristics is
shared by all the animals given below ?

Lizard, Sparrow, Turtle, Snake
(1) They are poisonous.
(2) They can live on land as well as in water.
(8) Their bodies are covered with scales.
(4) They lay eggs.

89.

C. mqg%aﬁﬁwﬁﬁﬂ@mil
D. ¥ g% 1w F S @ |
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as
LANGUAGE - 1.

gheneff fafafgd 9 & g $ 3¢ s
saar aft ¢ afe | W — I
fasheq srrsft g &t |
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——

(28)
* PARTIV
LANGUAGE 1
ENGLISH
Directions : Answer the following questions by|94. B.F. Skinner claimed that language is learnt
selecting the most appropriate option. through

Role Play should be an integral part of every (1) reinforcement and engagement.

language classroom because @) drillianin it

(1) it is an effective classroom management
technique. (3) immersion and employment.

(2) it enables students to engage in (4) repetition and approximation.
meaningful talk. -

(3) it enables students to memorize the story. 95. Rani is from Delhi. She has taken admission

(4) it enables girls and boys to interact in a school in Assam. In the final exams, she
freely. faces difficulty in writing a composition on

Al age teacher wants her students to Bihu’. The most probable reason for Rani’s

write for an authentic audience and purpose. problem is that

What would be the best writing task to (1) her parents are unable to help her in

achieve this ? understanding the school culture.

(1) Students write answers to questions 2 . ; :
given at the end of the chapter after 2) she. is not a hardworking girl al'ld B8 B0t
discussing them with each other. trying to adapt to the school curriculum.

(2) Students write a movie review of a movie (3) her background is deficient and is not on
they watched recently. a par with standard school culture.

3) Students write on the topic, ‘My School’.

& s T > (4) there is a discontinuity between her home

) Student:s write i letter f,o_the principal environment and the school curriculum.
expressing their opinion on a
school-related issue.

96. A language textbook for class 1 starts with

93.

Which one of the following is an example of
Basic Interpersonal Communication Skills
(BICS) ?

(1) Discussing response to a story in a small

group in the classroom
(2)
(3)

Taking notes during a lecture or a talk

Negotiating turn taking with a peer
during free play

(4)

Explaining a procedure to a peer during
an experiment

poems and stories (complete text) and ends
with the alphabet. Which approach does this
kind of arrangement reflect in language

. pedagogy ?

(1) Top-down approach
(2) Aesthetic approach
(3) Bottom-up approach

(4) Eclectic approach
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100.

(29)

Which of the following is mot true about
sentences in the passive voice ?

(1)

The verb in passive sentences is always
in perfect participle form.

(2) It is generally used where the subject is

hidden, not clear or not significant.

Sentences with intransitive verbs cannot
be passivized.

(3

(4) Any declarative sentence can be

passivized.

A child reads ‘She bought three apples’ as ‘She
bought tree apples’ and explains it as ‘apples
from trees’. How would you rate this child’s
reading skills ?

(1) She reads with spelling errors.

(2) She reads carelessly.

(8) She reads with comprehension.

(4) She reads without comprehension.

The most important purpose of formative
assessment is

(1) to form an opinion about the best student
in the class

to score and rank students on the basis of
their performance

(2)

(3) to provide qualitative feedback on

students’ learning

(4) to judge the performance of teachers and

schools

In the primary classes, it is recommended that
children should be taught in their mother

tongue because
(1) it creates a natural environment

children develop self-confidence
it promotes regional languages

(2)
(3
4)

it enables children to comprehend

101.

102.

108.

104.

C

A student of class V has just read a text about
the water problems of a community living on
the outskirts of a city. After reading the
chapter, the student remarks how difficult it
must be to struggle for water every day.
Which comprehension strategy does this
remark reveal ?

(1)
(2)
(3)
(4)

Summarizing
Metacognition
Inferential reading
Read aloud

A common developmental reading disorder is

(1) Dyslexia

(2) Aphasia

(3) Autism

(4) Impairment

Writing is a and not a

(1) product; formation

(2) process; product

(3) process; formation

(4) product; process
Which one of the following principles is not#

appropriate for vocabulary development ?

(1) Provide opportunities to consult a

dictionary

(2) Integrate new words with old

(3) Make a new word ‘real’ by connecting it to

the learners’ world

(4) Passive vocabulary should be learnt by

heart



http://upscfever.com

[PS(zFever,*

Cc

105. Storytelling should be used frequently in
classrooms because

(1) it lays the foundation of
understanding and imagination

logical

(2) it lays the foundation for other academic
engagements
(3)

(4)

it allows students to imagine and relax

it provides space for teachers to engage in
other academic tasks

Directions : Read the passage given below and
answer the questions that follow (Q. No. 106 to 11 4)
by selecting the most appropriate option.

Adversity provides us with an opportunity to
develop our character in a natural, recurring and
powerful way that only the challenges of adversity
offer. According to Solomon, adversity refines and
reveals the gold and silver of our character.

A lot of times adversity comes our way as a
direct or indirect result of our own actions. We make
a bad choice or a bad decision, or we simply fail to do
something we should have done. When I made bad
investment decisions, I had to accept responsibility
for my greed and naive choices. Yes, several men
had misrepresented the opportunities to me, but the
fact is, I am the one who made the decisions. And I
experienced the very consequences, that Solomon
had cautioned us about. Any time you make a
contribution to your own adversity, you need to
accept responsibility for it. Don’t simply blame
someone or something else.

Nonetheless, throughout our lives we will
experience a great deal of adversity that is not a
result of our own actions. It is critically important
that we do not assign fault to ourselves or to those
who had nothing to do with it. When a friend of
mine lost his daughter to leukemia, he confided to
me that he felt God was punishing him for his past
sins. In other words, he was blaming himself. It is

(30)

believed that adversity sometimes has a purpose
that we cannot know or understand. As tempting as
it may be, to try to figure out such a mystery is not
only an exercise in futility, it is foolish also.

106. Adversity provides us with an opportunity to
(1) develop our character
(2) test our friends
(3) evaluate our own character

(4) introspect

107. The author quotes Solomon to

(1) show his veneration for him .
(2) emphasize that adversity is part of life
(3) embellish his prose

(4) lend force to his argument

108. Most often our misfortunes are the result of

our own
(1) haste
(2) follies
(3) actions

(4) idleness

109. The synonym for ‘cautioned’ is
(1) threatened

(2) suggested

(3) persuaded

(4) warned

110. The phrase ‘exercise in futility’ means
(1) something that is pointless

(2) hopes of future

(3) an irrational act

(4) a foolish approach:

111. Identify the correct statement.
(1)

(2)

Adversity is a curse.

The mystery of adversity can be easily

understood.
(3) Adversity helps us improve our character.

(4)

Adversity is purposeless.
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true ?
(1) The bravest are bogged down by
misfortunes.

(2) Adversity refines our character.
(3) Adversity sometimes has a purpose.
(4) Adversity is a test of our character.

113. The antonym for the word ‘adversity’ is
(1) luxury
(2) luck
(3) emptiness
(4) prosperity

114. When adversity strikes us we blame
(1) providence.

(3) everything and everyone  except
ourselves.

(4) supernatural powers and evil spirits.
Directions : Read the poem given below and answer

the questions that follow (Q. No. 115 to 120) by
selecting the most appropriate option.

| Invictus

| Out of the night that covers me,
Black as the pit from pole to pole,
I thank whatever gods may be

For my unconquerable soul. 119

In the fell clutch of circumstance
I have not winced nor cried aloud.
Under the bludgeoning of chance
My head is bloody, but unbowed.

Beyond this place of wrath and tears
Looms but the Horror of the shade,
And yet the menace of the years
Finds, and shall find, me unafraid.

William Ernest Henley

112. Which of the following statements is not|115.

116.

(2) our stars. 117.

118.

120.

The phrase ‘unconquerable soul’ means
person who is

(1) compassionate
(2) noble
(3) sensitive

(4) invincible

Lines 5 and 6 show that the speaker

(1) remains undaunted even under the worst
circumstances.

(2) is overwhelmed by adverse
circumstances.

(3) accepts life’s challenges.

(4) refuses to surrender.

‘Wrath and tears’ means

(1) anger causing havoc

(2) anger and sorrow

(3) unfavourable circumstances

(4) unbearable suffering

The phrase ‘menace of the years’ suggests
(1) danger to life.

(2) cruel fate.

(3) evils of life.

(4) threats of the times.

. The word ‘winced’ in the second stanza means

(1) ruffled

(2) frightened
(3) worried
(4) recoiled

The poetic device used in ‘Black as the pit
from pole to pole’ is

(1) irony
(2) simile
(3) parallelism

(4) metaphor
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Candidates should answer questions
from the following Part only if they
have opted for HINDI as
LANGUAGE - L
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Candidates should answer questions
from the following Part only if they
‘have opted for ENGLISH as
LANGUAGE - 1I1I.

witeneff frafafad am % sl % W
foeg ot g A

1
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PARTV

LANGUAGE II
ENGLISH

Directions : Read the passage given below and
answer the questions that follow (Q. No. 121 to 126)
by selecting the most appropriate option.

As District Employment Officer, my Father
was given a jeep by the government. There was no
garage in the office, so the jeep was parked in our
house. My Father refused to use it to commute to
the office. He told us that the jeep is an expensive
resource given by the government — he reiterated to
us that it was not ‘his jeep’ but the government’s
jeep. Insisting that he would use it only to tour the
interiors, he would walk to his office on normal
days. He also made sure that we never sat in the
government jeep — we could sit in it only when it
was stationary. That was our early childhood lesson
in governance — a lesson that corporate managers
learn the hard way, some never do.

The driver of the jeep was treated with respect
due to any other member of my Father’s office. As
small children, we were taught not to call him by his
name. We had to use the suffix ‘dada’ whenever we
were to refer to him in public or private. When I
grew up to own a car and a driver by the name of
Raju was appointed, I repeated the lesson to my two
small daughters. They have, as a result, grown up
calling him ‘Raju Uncle’ — very different from many
of their friends who refer to their family drivers as
‘my driver’. When I hear that term from a school or
college going person, I cringe. To me, the lesson was
significant — you treat small people with more
respect than you treat big people. It is more
important to respect your subordinates than your
superiors.

121. The author’s father would not allow his family
to use the jeep because

(1)
(2)
(3)
(4)

the roads were full of potholes
he was afraid of accidents

the jeep was in a bad condition

it was not their private vehicle

122.

123.

124.

125.

126.

The author taught his children to

(1) treat small people with respect

(2) maintain a discreet distance from
servants

(3) be kind to small people

(4) be firm with servants

The author was critical of his children’s
friends because their attitude to servants
smacked of

(1)
(2)
(3)
(4)

coarseness

arrogance

loftiness

weakness

The author’s attitude towards servants can be
described as

(1
(2) rational

(3) affectionate
(4) respectful

indifferent

The opposite of the word ‘refused’ is
(1) received
(2) justified
(3) admired
(4) accepted

The word that can replace ‘reiterated’ is
(1) repeated

(2) recalled

(3) reconsidered

(4) revised
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answer the questions that follow (Q. No. 127 to 135)

J Directions : Read the passage given below and
| By selecting the most appropriate option.

Srinivasa Ramanujan (1887 - 1920)

Ramanujan was born on December 2, 1887, in
Erode (South India) as the eldest son in a family of
six children. In November 1892, he entered, the
Town High School at Kumbakonam as a half-fee
scholarship-holder and passed the Matriculation
Examination in 1904. In the school, he became a
minor celebrity, walking off with merit certificates
and prizes for academic brilliance. This school
nourished him for six years, bringing him as close as
he would ever come to a satisfying academic
experience. When he was in the seventh standard,
he gave dlear evidence of his mathematical gifts; he
could reel off the square root of a natural number to
the specified number of places; he could point to the
indeterminate nature of zero divided by zero.
h'u;s mother — the family being close to
pemury — took in college students as boarders who
; 3¢ Ramanujan’s interest in mathematics,
‘m him textbooks from the college library.
Loney’s Trigonometry’ was one such treasure which
he mastered.

During 1906 - 1912, Ramanujan  was
antly in search of an employer to earn his
Sood. With his “Note-books” as his only
dation, he sought the patronage of
Iyer, the founder of Indian
; Society who was at Tirukovillur and
ﬁ'l clerical job in his office. The former had
=52 %o smother Ramanujan’s genius and sent
%0 Madras with a letter of introduction to
Aiyar, then at the Presidency College,
He gave in turn, Ramanujan a letter of
Son to that true lover of mathematics,
. a Rao, the District Collector, Nellore.
& ilmmg point in his life.
= the advice of P.V. Seshu Aiyar, Ramanujan
"_’f. sated his theorems on divergent series in a
Hur dated January 16, 1913 to
#8y. who was ten years senior to

aIny

= LICSE

(39)

Ramanujan. With the personal int
Walker and support given by India

University of Madras awarded its fis
to Ramanujan to study in Cambrid

advising the India Office, of his wish to k
Cambridge.

127. Merit certificates and prizes awar
Ramanujan at school are a proof of his

(1) intellectual brilliance
(2) sincerity
(3) dedication

(4) commitment

Ramanujan’s mother took in college students
as boarders because

(1) she wanted to give her son all the
comforts of life.

she wanted to save money to buy a house.
she had to pay up huge debts.
the family was on the verge of poverty.

128,

(2)
(3)
4)

129. The turning point in Ramanujan’s life came
when
(1) he got a job in Indian Mathematical

Society.

his name was recommended to the
District Collector, Nellore.

(2)

(3)
4)

he was awarded a big cash award.

he was given a scholarship.

130. The support Ramanujan received from his

school suggests that

(1) a talented person needs murm to
flourish.
luck is more important than patronage.

support or no m men with talent
forge ahead.

(2)
3)

(4)

fortune favours those who dare.
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131.

132.

133'

134.

135.

136.

(40)
137.

Identify the correct statement.
(1) Ramanujan did not get much support
from his school.

(2) Ramanujan’s mother did not want him to
go abroad.

(3)

(4)

Seshu Aiyar was Ramanujan’s patron.

Ramanujan was offered at

Cambridge.

a job

The phrasal verb, ‘reel off” means to
(1)
(2)
(3)
(4)

fishing
rehearse easily
articulate fast

say quickly

The closest synonym for the word ‘smother’ is
(1) stifle

(2) discourage

(3)
(4)

ruin

deaden

The antonym for the word ‘recommendation’ is
(1)
(2)
(3
(4)

condemnation
criticism
revulsion
disapproval

The word that can best replace ‘nourished’ is
(1)
(2)
(3)
(4)

sent
supported
served
gifted

Directions : Answer the following questions by
selecting the most appropriate option.

Skilled reading is
(1) Deliberate

(2) Constructive
(3)
(4)

Imaginative

Progressive

138.

139.

140.

Of the following, which one is the most

important prerequisite for language learning,

whether first or second ?

(1) Skills-based instruction

(2) A multilingual approach

(3) An input-rich communicational
environment

(4) A structural-situational approach

A Hindi-speaking teacher gets posted in a
primary school which is situated in a remote
area of Rajasthan. Since she doesn’t know the
local language, she faces lots of problems.
She should

(1) focus on the textbook as a source of
standard Hindi.

use the child's language as a resource
while teaching.

encourage the community to learn
standard Hindi.

try to get a posting to a Hindi-speaking

area.

(2)
(3)

4)

While teaching children to read, at which
point should the teacher focus on
comprehension ?

(1) After children have learned how to decode
(2) Right from the beginning

(3) Once children have mastered phonics

(4) When children reach class Il

Here is a list of tasks commenly included in a
language classroom. Which of these sees

children as active learners ?

(1) Children carefully memorise correct
answers to questions on a poem.

(2) Children write answers to questions
given at the end of a poem.

(3) Children carefully note down answers

from the blackboard.

Children work in groups to generate
interpretations of a poem.

“4)
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142,

143.

144.

145.

(41)

The assessment of students’ writing should | 146.

most importantly focus on

(1) using idioms and metaphors.
(2) correct spelling and grammar.,
(38) expressions and ideas.

(4) keeping to the word limit.

Choose the correct spelling.
(1) Dosent

(2) Doesn’t 147
(3) Does'nt
(4) Doesnt’

A primary teacher should introduce reading
through

(1) pictui'e books

(2) alphabet books only

(3) phonic teaching

(4) stories

A teacher of class III realizes that vocabulary

development is an important factor in 148.

enabling students to become better readers. Of

the following, which might be a good strategy

for vocabulary development ?

(1) Students learn to use the context to guess
the meaning of new words.

(2) Students memorise extensive word-lists
of synonyms and antonym:s.

(3) Students consult a dictionary whenever
they come across a new word. 149

(4) Students underline difficult words from a
text and make sentences with them.

Children’s oral language development forms

an important foundation for learning literacy.

Which of the following classroom practices

enables oral language development ? 150.

(1) Chorus reading of a story in the textbook
along with the teacher

(2) Practising the correct pronunciation of
words in a chorus

(3) Participating in role-plays on favourite
stories

(4) Memorising  and reciting  poems
individually or in a chorus

c

Which one of the following would be the best
evidence to demonstrate to parents and
administrators what students can do with
language ? '

(1) Lists of course goals and objectives

(2) Marks in a test

(3) Poems or paragraphs written by students
(4) National curriculum and syllabi

. Before students start reading a story titled,

‘Brave Bitto’, the teacher initiates a discussion

with them on ‘Bravery’. What is the teacher

trying to achieve through this activity ?

(1) Activate the intellectual stance of
students.

(2) Activate enthusiasm in students.

(3) Activate the efferent stance in students.

(4) Activate the previous knowledge of
students.

Mrs. Sinha asks prediction questions as she
reads aloud a story to her class III students.
She does this to

(1) make the story interesting.

(2) focus on comprehension.

(3) help students remember important
details in the story.

(4) improve students’ vocabulary.

. Scribbling is a stage of

(1) Listening
(2) Writing
(3) Reading
(4) Speaking

If a student is making pronunciation errors,

the best way to help him/her is to

(1) call his/her parents and complain.

(2) scold him/her in class for incorrect
pronunciation.

(8) mock at him/her in class for incorrect
pronunciation.

(4) provide him/her with correct
pronunciation without any humiliation.
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Candidates should answer questions
from the following Part only if they
have opted for HINDI as
LANGUAGE -1I1.
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1.

10.

1

12.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on
Side-2 of the OMR Answer Sheet. The answer once
marked is not liable to be changed.

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer
Sheet.

Handle the Test Booklet and Answer Sheet with
care, as under no circumstances (except for

discrepancy in Test Booklet Code or Number and |

Answer Sheet Code or Number), another set will be
provided. :

The candidates will write the correct Test Booklet
Code and Number as given in the Test
Booklet/Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the Examination
Hall/Room.

BEach candidate must show on demand his / her
Admission Card to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his / her
seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet
twice. Cases where a candidate has not signed the
Attendance Sheet a second time will be deemed not
to have handed over the Answer Sheet and dealt
with as an unfair means case. The candidates are
also required to put their left-hand THUMB
impression in the space provided in the
Attendance Sheet.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.

On completion of the test, the candidate must
hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed
to take away this Test Booklet with them.
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PART I / 9T I

CHILD DEVELOPMENT AND PEDAGOGY / ote faerma & framomes
fRdr : [Aefefaa 3931 & I 37 & fow gad I

Directions : Answer the following questions by
selecting the most appropriate option.

1.

Which one of the following statements best
summarizes the relationship between
development and learning as proposed by
Vygotsky ?

(1) Development is independent of learning.

(2) Development process lags behind the

learning process.
(3) Development is with
learning.

Synonymous

(4) Learning and development are parallel
processes.

What is a major ecriticism of Kohlberg’s

theory ?

(1) Kohlberg proposed a theory without any
empirical basis.

(2) Kohlberg proposed that moral reasoning
is developmental.

(3) Kohlberg did not account for cultural
differences in moral reasoning of men and
women.

(4) Kohlberg did not give clear cut stages of
moral development.

In a learner-centred classroom, the teacher
would

(1) encourage children to compete with each
other for marks to facilitate learning.

(2) demonstrate what she expects her
students to do and then gives them
guidelines to do the same.

(3) employ such methods in which the
learners are encouraged to take initiative
for their own learning.

(4) use lecture method to explain key facts
and then assess the learners for their
attentiveness.

ey giaT |

s

fr=faflas uEi § 4 S8 aETEH F g

yetfed fawmm qw Afrm & e Tg &

TS T TR T AT @ ?
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(3)

According to Gardner’s theory of multiple
intelligence, the factor that would contribute
most for being a ‘self-aware’ individual would
be

(1) Musical
(2) Spiritual
(3) Linguistic

(4) Intrapersonal

A major difference between the perspectives of
Vygotsky and Piaget pertains to

(1) their critique of behaviouristic principles.

(2) the role
environment to children.

of providing a nurturing

(8) their views about language and thought.

(4) their conception of children as active
constructors of knowledge.

A lot of debate surrounds whether girls and
boys have specific sets of abilities due to their
genetic materials. Which one of the following
are you most likely to agree with in this
context ?

(1) Girls are socialized to be caring while
boys are discouraged to show emotions
such as crying.

(2) After puberty boys and girls cannot play
with each other since their interests are

complete opposites.

(3) All girls have inherent talent for arts
while boys are genetically programmed to
be better at aggressive sports.

(4) Boys cannot be caring since they are born
that way.

4.

.\ - !7 . v "
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A teacher wants to ensure that her students |7.

are motivated intrinsically. She would

(1) specify uniform standards of achievement
for all children.

(2) focus on the processes of learning of
individual children rather than on the
final outcome.

(3) offer tangible rewards.

(4) plan learning activities which encourage

convergent thinking.

Failure of a child to perform well in class tests
leads us to believe that 8.

(1) assessment is objective and can be used
to clearly identify failures.

(2) there is a need to reflect upon the

syllabus, pedagogy and assessment
processes.
(3) some children are deemed to fail

irrespective of how hard the system tries.

(4) children are born with certain

capabilities and deficits.

There are a few children in your class who |9

make errors. Which of these is most likely to
be your analysis of the situation ?

(1) The children have poor intelligence.

(2) The children are not interested in studies
and want to create indiscipline.

(3) The children should not have been
promoted to your class.

(4) The
conceptual clarity and there is need for

children have not yet gained

you to reflect on your pedagogy.
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10.

11.

(5)
10. T foemeff wh v § g fargadt @1 twifea

A student highlights the main points in a
chapter, draws a visual representation and
poses questions that arise in her mind at the
end of the chapter. She is

(1) trying to regulate her own thinking by

organization of ideas.

(2) trying to use the strategy of maintenance

rehearsal.

(3) ensuring observational learning,

(4) trying to use method of loci.

How can a teacher help children become better

problem solvers ?

(1) By giving children a variety of problems

to solve and support while solving them

(2) By encouraging children to look for

answers to the problems in the textbook

(3) By providing correct solutions to all the

problems they pose to students

(4) By giving tangible rewards for solving

problems

j i &

E

FAT 7, IHHT Uh YATCHS TR S B
AT TR0 T FHICT W 319 femm § Ieqe B
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_ statements, which one do you

13.

14.

agree with ?

(1) Learning is completely governed by

external stimuli.

(2) Learning cannot take place unless it is

assessed externally in terms of marks.

(8) Learning has taken place only if it is

evident in behaviour.

(4)

Learning takes place in a socio-cultural
context.

Which one of these is a principle of child
development ?

(1) Development occurs due to interaction

between maturation and experience.

(2) Experience is the sole determinant of

development.

(3) Development is determined

reinforcement and punishment.

by

(4) Development can accurately predict the

pace of each individual child.

In the context of ‘nature — nurture’ debate,
which one of the following statements seems
appropriate to you ?

(1) A child is like a blank slate whose

character can be moulded by the
environment into any shape.

(2) Environmental influences only have a
little value in shaping up a child’s

behaviour which is primarily genetically

determined.
(3) Heredity and environment are
inseparably interwoven and both

influence development.

(4) Children are genetically predisposed to

what they would be like irrespective of

whatever environment they grow up in.

(6)

13.

14.
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15.

16.

9.

18.

(2) scaffolding provided by more able

(7
Socialization is a process of
beliefs and

(1) acquiring values,

expectations.
(2) assimilation and accommodation.

(8) learning to critique the culture of a
society.

(4) socializing with friends.

Piaget proposes that pre-operational children
are unable to conserve. He attributes this
inability to which one of the following factors ?

(1) Inability of hypothetico-deductive
reasoning

(2) Personal fable
(3) Irreversibility of thought
(4) Lack of high-level abstract reasoning

According to Piaget’s theory, children learn by

(1) memorizing information Wpaymg— ing due
attention. .

members of the society.
(3) processes of adaptation.

(4) changing their behaviour when offered
appropriate rewards.

According to Vygotsky, zone of proximal
development is

(1) zone demarking the support offered by
the teacher.

(2) ‘the gap between what the child can do
independently and with assistance.

(3) the amount and nature of support
provided to the child to achieve her
potential.

(4) what the child can do on her own which
cannot be assessed.

)

15.

16.

17.

18.
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19.

20.

21.

(8)

A teacher in a multi-cultural classroom would
ensure that the assessment considers the

following :

(1) Reliability and validity of her assessment
tool

(2) Expectations of the school administration
by complying with the minimum levels of
learning

(3) Standardization of the assessment tool

(4) Socio-cultural context of her students

An upper primary school constructivist
classroom would foresee the following role of
students in their own assessment :

(1) Make detailed guidelines for how marks
would be correlated to students’
achievement and prestige in class.

(2) Students would be the sole determinants
of their own assessment.

(3) Students would plan for assessment with
the teacher.

(4) Denying that assessment has a role in
teaching-learning.

The rationale behind inclusive education is
that
(1) society is heterogeneous and schools need

to be inclusive to cater to heterogeneous
society.

(2) we need to take pity on special children
and provide them access to facilities.

(3) it is not cost-effective to provide for

separate schools for special children.

(4) the benchmarks for performance of each

child should be
standardized.

uniform and

19.

20.

21.
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24.

(9)

Which one of the following would be the most
effective way to identify a creative child by the
teacher ?

(1) Observing how the child interacts with
peers in team tasks

(2) Administering standardized intelligence
tests

(8) Giving objective type tests

(4) Detailed observation of the
especially when she solves problems

child

A teacher can effectively respond to the needs
of children from ‘disadvantaged sections’ of
society by

(1) telling the ‘other children’ to co-operate
with the ‘disadvantaged children’ and
help them learn the ways of the school.

(2) reflecting on the school system and
herself about various ways in which
biases and stereotypes surface.

(3) ensmmgthatthechﬂdrendonotgeta
chance to interact with each other to
minimize the chances of their being
bullied.

(4) sensitizing the disadvantaged children to
the norms and strictures of schools so
that they can comply with those.

Research has pointed out that several levels of
discrimination exist in the schools. Which of
these is not an example of discrimination at
upper primary level ?

(1) Many teachers use only lecture method to
teach.

(2) Dalit children are made to sit separately
during mid-day meals.

(3) Girls are not encouraged to take up
maths and science.

(4) Teachers
children
strata.

expectations of
socio-economic

low
lower

have
from

22.

23.

24.
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26.

27.
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25.

Which of these is a characteristic of a child
with learning disability ?

(1) An IQ below 50

(2) Bullying other children and engaging in

aggressive acts
(3)
(4)

Doing the same motor action repeatedly

Difficulty in and

reversing words

reading fluently

Which one of the following statements best
describes why children should be encouraged
to ask questions in the class ?

(1) Questions increase the curiosity of the

children.

(2) Questions take learning forward by
interactions and lead to conceptual
clarity.

(3) Children need to practise their language
skills.

(4) Children can be made to realize that they

lack intelligence by making them think of
all the things they don’t know about.

Which one of the following assessment
practices will bring out the best in students ?

(1) When students are required to reproduce
facts as tested via multiple -choice
questions

(2)

When conceptual change and students’

alternative solutions are assessed
through several different methods of
assessment

When the marks obtained and the
position secured by the student in the
class are the ultimate determinants of
success

(3)

(4)

When the emphasis is laid upon positive
correlation between test scores
student ability

and

(10)
25.

26.

27.

T8 ¥ - sRrm.seRra e 9= i
e & 2

1) s0® F=a H gfg @few

(2) I T Pl YHHMET GUT ATHHS HR
T

T & THR I Taens iR S an
ARE

YHIYETE §9 ¥ Ygd q97 Yeal W qeie
EIER- T

(3)

4)

frafafas & & a1 99 g8 S8R/ @
Ui T 8 fF Fam § S B 9E 7B &
F1 TrcATiEd T =T ?

(1) w9 =51 6t e i 9e # |

(2) U¥ FAAGRAT & R AR H
FEd & qUT ThoUdTcHs Tqsedr i fe
T 2 |

Il P G WINT PN b A
HTITIHAT Bt B |

fom =fiei & s & == 7@ 9a # -
T H foam a3 I8 TEgE W
ST\t B T 399 gfg i+ 7 |

(3

(4)

frefafen & & S smwem ugfa faan
1 gaTaw w1 S qiyd St ?

(1) v fenfRt w sgfeedm s
ey ¥ fohu MU gl % ¥ 9§ G
2ETH I ATEYEHAT Bl 8

e HeheudTcHd UiEdd qer ferenfee
Jwfoqss GHIUEl 1 3Hhad 6
faftrat o gro eterfea fopam o 2
e wher H fereneff < gro wme feRw o
3R TIH HHE H THAT Ui Bl
oo e & 3ihi R faeneff it T

e GRS HEeEY W §e (24T |
2

(2)

(3)

(4)
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28.

29.

30.

The amount and type of scaffolding to a child
would change depending on the

(1) mood of the teacher.
(2) rewards offered for the task.
(3) level of the child’s performance.

(4) child’s innate abilities.

As an upper primary school mathematics
teacher you believe that

(1) students’ errors provide insights into
their thinking.

(2) not all children have the ability to study
mathematics in upper primary school.

(3) boys will learn mathematics without
‘much effort since they are ‘born with it’

(4) students need to possess procedural
knowledge even if they don’t understand
conceptual basis.

{ W

Which one of these statements do you agree
with ?

(1) A child fails because the government is

not giving enough technological resources |-

in schools.

(2) A child’s failure can be attributed directly
to the genetic material he/she has
acquired from his/her parents.

(3) A child’s failure is a reflection on the
system and its inability to respond to the
child.

(4) A child’s failure is primarily due to lack of
parent’s education and economic status.

(11)

28.

29.

&
T w= B! @E &4 I AT TS THR H ghEed
75 w1 i w R '
(1) 3reaTfyeT i TEE

(2) %1 % fou e gEmr

(3) = % e &1 =R

(4) == i AGhTs Frgand

I= s faeme ) Tiie-srenfie & w9 8

9 favara =t & f

(1) TP & i s e #@
Frasfeeat uersy St & |

(2) = wufe faamr ¥ ooff s=1 § e
qeq 1 e T8l Bt ? |

(3) e T w1 fomn srfees yaw T diw
I w=iifE a7 IR Sae fadvar @
AT ATYH! FEfHAT & IR A &=
H1 ArEvIHal # |

(1) Frerfd = weifafys 77 = 591 Hi
AEEHAT Bl B, TR I HHoIAHD
YR e TmEd B

T wYE § ¥ a7y fred wEEd § 7

(1) TH == AU BT B iR R
oo § vt drefehg goes wem
TR R

(2) TH w= H FEEHeEl & U TR
e ® Y9y &9 8 rder g o
Tohar &, T 389 o - @ S
frm 2 |

(3) TH §= $I FEGo FaEAT a1 7 &
yfy wfafsra =@ o sah! smndar &
yigfers 2 |

(4) TH w= H GO J&F F & Har-far
% e qur e =) d *H & FEO
21
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(12)

Social Science).

Candidates have to do questions 31 to 90| gfigmfefal &t Tv7 31 @90 a1 @ 9T Il (70T
\EITHER from Part II (Mathematics and

Science) OR from Part III (Social Studies/

fagr) ar wrr m1 (amrfas sreaa/ art:
far) @ & & |

Directions : Answer the following questions by
selecting the most appropriate option.

31. Place of mathematics education in the
curricular framework is positioned on twin
concerns :

(1) What mathematics education can do to
improve the score of students in
summative examination and how it can
help to choose right stream in higher
classes

(2) What mathematics education can do to
improve communication skills of every
child and how it can make them
employable after school

(3) What mathematics education can do to
engage the mind of every student and
how it can strengthen the student’s
resources

(4) What mathematics can do to retain every
child in school and how it can help them
to be self-dependent

32. ' LCM of 22, 54, 135 and 198 is
(1) 22x3¥x5x11
2 2x3*x5x11
3) 2°x3%x5x11
(4) 2°x3%x5x11

PART II / |7 11
MATHEMATICS AND SCIENCE / fora @ fasm

33w : Amfofaa 3v31 & 307 37 & fore qad 3
faweg AT |

31. vreu=Al FqwE # o fian #1 wam 1 w7

‘T(%:

(1) Tfora <t e dfsrareres wien § faenf
¥ 3 U & T o1 9 Tend! R ¢
I= HanaAl § T faw 1 gEE e
FIT TETAAT L Gl B

(2) T <R f3ren wedss s= § EEN &y
H A FUR Fhdl 7 3N fommed &
3% HH YR 39eY T Hehell 8

(3) T fren v faaneff & afeass &
AW % HHhdl 8 3R gw faemE
AT 1 Y Yo L dHdT 2

(4) Y% T= ! fouem d s w@H * f
T T R Fehal & IR I AT
T o foI F wEEar o g6 8

82. 22,54, 135 31X 198 F1 @.9. (LCM) B
(1) 22x33x5x11
(2 2x3¥x5x11
3) 22x3%2x5x11
4 28x3%x5x11

SPACE FOR ROUGH WORK / T% @1d & foru sz
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33.

(13)

In class VI, in the unit of ‘Understanding
Quadrilaterals’, important results related to
angle-sum property of quadrilaterals are
folding activity
followed by the exercise based on these

introduced wusing paper

properties.

At this level proof of the angle property is not
given, as the students of class VI are at Van
Hiele level of

(1) Level 2 — Informal Deduction

(2) Level 3 — Deduction
(3) Level 0 — Visualization

(4) Level 1 — Analysis

The term, ‘Mathematical tools’ refers to

et
3

| o 349

Calculators, rulers, tape m

protractors, compass, ete.

(1)
e

(2) All types of materials including language,
written symbols, meaningful instructions

to establish their purpose

(3) Physical material like geo-board and 3D

models, cubic rods, etc.

(4) Charts based on formulae and concepts,

graph papers, dotted sheets, etc.

33. & VI i 37 Tgus B gueer & wgde &
FIIA OEH § FrEfUd ged 9o e
aret & frmehem g it wue mu § el
I YYET T UIEHT W aTRE s fn

g1

3 W W HON F OEH HOGHO (TH) T

feam mn R, +=ifs wenm viF faeneff 35 wvg &

RS mEwE:

(1) TR 2 - = A

(2 w3 -

(3) TR 0 - HHfEH-femm

(4) TR 1 - favewm

)
34, iUt Iy IeeiE@ I

(1) dfwe 49 (Fegoiw), WH (FW),
T AT W (29), = (HOE),
TTHR (FEITH), g

2 Tt verR F Tl el ol
& — v, fafa s, syl e <t fs
9T & TG W TH

@) ifis wgd 3@ F S (surfea)
g R fafam (3&) #few, =fiw =%,
EL2 I

(4) TF AR I T ARG =7, I IR,
forg ofte, sefa

SPACE FOR ROUGH WORK / % @14 & oo sz
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35. Four stages of language development in|35. H&ll-H& # Tforg 1 W faEfid @ %
mathematics classroom in order are =R <9 39 A §%:

(1) Everyday language - Mathematized (1) wfafa i 9w - T ofifeafa

situation language — Language of WIS — TITE i HHETST Bl B F S
Mathematics problem  solving  — WTST —s TATehTe ATST
Symbolic language
(2) iR i wmm o T e
(2) Everyday language — Language of B HE H AW - it uftferfa s
Mathematics problem  solving — ST —s TeshTedeh HTST
Mathematized situation language —
Symbolic language @) fefes @ s — R i aEeEE
T HH ] W — FlehlcHeh TN
(3) Everyday language — Language of iftrefrer ufifeafa <t s
Mathematics problem solving — Symbolic
language — Mathematized situation 4) wfafed =t W — eTehTeHe HTST — T
language # guensi ® T HE W
Tferdta it 6t v

(4) Everyday language — Symbolic
language — Language of Mathematics
problem solving - Mathematized

PR A s6. w Tl et e smoR w Bfe H, ¥
# TrEr ¥, "em i it W
offeafid § WA, SHE AT 3 "I
36. A learner exhibiting difficulty in sorting, T asﬁm 3 | g1 et ¥ fpg T

recognizing patterns, orienting numbers and

shapes, telling time and measurement may i %@ﬁmﬁ T R 2
have dyscalculia with difficulty in (1) STST =R
(1) language processing (2) TEITATHS (Hrer) ey (FHa)
(2) v%sual-mot(?r coox.-dmatmn @ T S
(8) visual-spatial skills
(4) visual-memory (4) T

SPACE FOR ROUGH WORK / T @ o fere wmmg
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38.

(15)

37. CBSE announced the celebration of ‘GANIT 37.

Week’ in schools to commemorate the birth

anniversary of the legendary mathematician,

Srinivasa Ramanujan. GANIT stands for

(1) Growing Ability in Numerical
Innovations and Techniques

(2) Growing Ability in Numerical
Innovations and Training

(38) Growing  Aptitude in Numerical
Innovations and Techniques

(4) Growing  Aptitude in  Numerical
Innovations and Training

Learning mathematies at upper primary level | 38.
is about

(1) gaining understanding of mathematical
concepts and their applications in solving
problems logically.

(2) learning lots of new formulae and
algorithms.

(3) remembering solutions or methods of
various types of mathematical problems.

(4) learning problem solving techniques only.

Read the following question from class VI

textbook :

“Write a pair of integers whose sum gives a
negative integer.”

The above question refers to

(1) Reflective question

(2) Multi-disciplinary question
(3) Open-ended question

(4) Closed-ended question

E

ﬁmﬁﬁmmsﬁﬁmm%m

# wf F T w fAwd 3 canT

Week' (7@ ®m@’) #m i gwon &t |

GANIT &7 319 3

(1) HEIHS Fa=R 3R aos § e §
ELE

(2) TS TEER FR uewr § dvgar

kL
(3) WA TR AR AHAlp § Afghy i

s
(4) HEAHF FEER I e § sfighy §

g
I T TR W e e e g
(1) e sruromst T § 9fy ok
H TR § gueell B qwwd w5
| & F |
(2) =gd WR T g R ufewem whwmsd
|

@) fafm y#r i ey wwenst  ww
3R farfert =t T we |

(4) Fad THERT # g wE E aHhE F®
i@ |

FET VI $1 veugws 4 frefifed e &
gfgw :

iRl 1 TEn g fafew, R dmea
mwﬂm%gl:? “

FR feTn mar v 3@ w2
(1) eyl ge9
2 wEfawf ywm

(3) @ I Iren TH
(4) o5 379 Il W

SPACE FOR ROUGH WORK / 1% T4 & feTy wrrg
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40.

41.

42,

(16)
The product of integers between —7 and -3 is | 40. — 73R -3 & &9 foom qUfshl T UGS B
() 120 (1) 120
s 120 2) -120
8)" 840 : (3) 840
4) -360 ik,

Which one of the following statements is|41, Fr=fafes § & ST s Td & 2

correct ? |
s & _ (1) Bl 9T T F INTHS G2 TS
(1) Sum of two prime numbers is always a e B R |

prime number.

(2) UF WIST GEyT fawn g & godt 2 |
(3) IS TH WS HEAT 781 2 |
(4) HIH DI AHST &I U R |

(2) A composite number can be odd.

(3) There is no even prime number.

(4) ‘1’is the smallest prime number.

42. HE VI SuTidrg Hen # sreams ¥ R

In geometry class of VI grade students, the =t 3 YRy |
teacher explained the construction of angles 1 30°, 60° 3 90° ATY % T A 3:@

measuring 30°, 60° and 90°, with the help of fasm F0 #1 vee fen | 3E% e e

demonstration of construction and bisector of I 15° 30 45° =1 HIT F4H & oI FaT |
an angle. Then she asked the students to

construct an angle of 15° and an angle of 45°. 6 THY I8 B AQEH F A WA LRURE
This task at this point reflects the teacher’s 2,982

D s e 2 O _ (v el i IvaE B e
(1) assess the learner’s performance in ¥ e FET |

summative assessment.

(2) assess the student’s understanding and @ fu T T ksl A fore fenioi

ability to combine two skills learnt, to ! FTH T HE T F Hhered F A
accomplish the given task. U T SATHE |
(3) engage every student in some work. (3) g fereneff =1 Tl 7 ot & & ==
(4) give the exposure of experiential AT |
e (4) v FEh sfem A 3

SPACE FOR ROUGH WORK / T% w4 & feTu s
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45.

47.

(17)
e [ ey 1 2 1313

The value of 1+E+ﬁ+1_1010_1(“)+ 10000 is |43.
(1) 3-3221
(2) 2-3321
(3) 2-245
(4) 2-432

44,

The mean of range, mode and median of the
data

4,8,2,2,72,2,0,3,4,4 1s
(1) 4
(2) 5
3 2
(4) 3

The sum of all interior angles of a regular
convex polygon is 1080°. The measure of each
of its interior angles is

(1) 108°

(2) 72°

(3) 120°

(4) 135° 3 & e e !

In a quadrilateral ABCD, ~D = 60° and
#C = 100°. The bisectors of £ A and £ B
meet at the point P. The measure of £ APB is
(1) 80°

(2) 100°

(3) 60°

(4) 170°

In A DEF and A PQR, if PQ = DE, EF = PR
and FD = QR, then

(1) ADEF=ARPQ
(2) ADEF=A QRP
(3) ADEF=APQR
(4) ADEF=AQPR

45.

47.

gl | 111, M
10 100 1000 10000

(1) 3-3221
(2) 23321
(3) 2:245
(4) 2432
Hiwgt
4,3,2,2,7,2,2,0,8,4,4
% UiER, g5 3R AT H AT @
1) 4
2 5
(3) 2
4) 3
T IT TH g b T 3d: H B ATHA
1080° & | 39 Ycish 37d: 0] I AT B
(1) 108°
2) 72°
(3) 120°
(4) 135°
s Tq8¥ ABCD #, £ D =60° 3 £ C =100°
21 £A 3R £B % gHgye fog P w fiema
21 ZAPB i W9 B
(1) 80°
(2 100°
3) 60°
(4) 70°
A DEF 3 A PQR ¥, af¢ PQ = DE, EF = PR
A FD=QR 8, a9
(1) ADEF =ARPQ
(2) ADEF=AQRP
(3) ADEF=zAPQR
(4) ADEF=AQPR

1

SPACE FOR ROUGH WORK / T% &Td o feTt WiiTg
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48. The perimeter of a trapezium is 104 em, the 48. et wgems = 9fE g 104 T+ 2, IqH! T
lengths of its non-parallel sides are 18 cm and HEH=R YAraft i AT 18 I} qeT 29 TT
22 cm, and its altitude is 16 cm. The area B, T 3Eh e 16 o ? | oo F

(in em?) of the trapezium is % (a:nz ﬁ) 3
(1) 1024 1) 1024
(2) 512 @) 512
(3) 320 (3) 320
| (4) 640 4) 840

49. If each edge of a solid cube is increased by ) |
150%, the percentage increase in the surface | 49- af foref 3 v 1 e Ll i 150% %t qfg

A i #ﬂam,ﬁsw%T%héﬁwaﬁgiﬁhm-fﬁ
‘ (1) 525 g

(2) 625 (1) 525

(3) 150 (2) 625

(4) 225 (3) 150

(4) 225
50. The radii of the bases of two cylinders are in

theratioofz:3andtheirheightsareinthe 50. éaﬁ%mﬁaﬁﬁmﬁﬁ23wm

ratio of 5 : 3. The ratio of their volumes is 2 3 S 5.3 U R | I
1 7:6 I § ST #
(2) 4:9 (1) 7:6
3) 20:27 A (2 4:9
4 10:9 (3) 20:27
51. One of the factors of @ 10:9
4x®+ % + 14x - Ty _4xy + 12 5. 4x?+y2 4 14x — Ty — 4xy + 12
is & oEE! § & o 2
(1) 2x+y+4 1) Zeiysed
@ Zx+y-4 @) 2x+y-4
@) 2x-y+3 3) 2x-y+3
4) 2x-y-3 4 2x-y_3

SPACE FOR ROUGH WORK / 7% &4 % foro s
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52.

53.

55.

(19)

What should be subtracted from ;7§ to get

£oq
3
29
(1) 21
- 29
(2) B 1
1
21
-1
i
In standard form, 0-00001278 is expressed as
k x 10™. The value of (k +n) is
(1) 3278
(2) -3-722
(3) 4-722
(4) —3-278
The least number which must be added to
893304 to obtain a perfect square is
(1) 1521
(2) 1612
(3) 945
(4) 1042

The value of 3—91125 — §512 is

(1) -53
(2) 73
(3) -37
(4) 42

The values of y for which the 4-digit number
51y3 is divisible by 9 is

(1) 2o0r 3

(2) Oor 3

(3) 3or9

(4) Oor 9

(3)

(4)

52.

53.

55.

56.

?ﬂ@wmm% 133 T '/ ?

29
21

~ 29

21

1

21

T

21

0-00001278 ! HHH ®9 H k x 10° g =T
P ST R | (k+n) FTAF B

(1) 3-278
(2 -3722

(3) 4722

(4) -3278

9% g9 o1 g 8 893304 F e W T
ot ot yrea &/, B R

(1) 1521

(2) 1612

(3) 945
(4) 1042

3— 91125 — Y512 1 9H &
(1) 53

(2 173

(3) -37

(4) 42

y % UH 998 4-3(hi dell §@ 51y3, 9 ¥
ﬁiﬂmﬁ,ﬁ":{%:

(1) 2913

2 03

(3 3A9

(4) 0319

(1)

(2)

(3)

(4)

SPACE FOR ROUGH WORK / T% &1 @ (610 9718
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57.

58,

59.

(20)

In the product (x% - 2) (1 - 3x + 2x°) the sum of
coefficients of x and x is
(1 5

(2) 6
3) 2
4) 3

The scale of a map is 1: 3 x 10%. Two cities
are 9cm apart on the map. The actual
distance (in km) between the cities is

(1) 180
(2) 360
(3) 135
(4) 270

The value of a machine which was purchased
two years ago, depreciates at 12% per annum.
If its present value is ¥ 9,680, for how much

was it purchased ?
(1) ¥ 12,142-60
(2) ¥ 12,500

(3) ¥ 10,200

(4) ¥ 11,350-50

As per NCF 2005, the goal of mathematics
teaching in school curriculum is that children
learn “Important Mathematics”.
Important Mathematics implies

(1) understanding appropriate use of learnt

mathematical techniques.

(2) verifying geometrical theorems in Maths

Lab.

knowing mathematical procedures and
algorithms.

solving mathematical games and puzzles.

(3)

(4)

57.

58.

59.

TOR%S (x2 — 2) (1 — 3x + 2x2) H x2 3 x
TUTIRT T ATHS B

1 5

(2) 6

(3 2

4 3

T AERE # 3T (scale) 1 : 3 x 10°
wAfeE & & R 9 T i gt w E | wn
ffer aredfas gft (et &) 2

(1) 180

(2) 360

(3) 135

(4) 270

A 3 v Wi W R o % e
129 s o B FHaead BT & | AfE 3
JAUE qeF T 9,680 7, T 3T 9 I TR
a7 7

(1) T 12,142:60

(2) T 12,500

(8) T 10,200

(4) T 11,350-50

T gres=al i FRET (T.HLUF.) 2005
R, fauee see=at § nftm & e
a8 B wee fe w= “gwEwmel nfy
drg | yyramet nftra = aref B

(1) =g 73 nfordfi gt = gEE w3
fafeifa (sfaa) swm w5 |

wm # e # sfide giE
S HEAT |

T FEvgiaal K gfee i
(Yemifiem) &1 9. |

nfordta @@l R TRt g T |

(2)

(3)

(4)

SPACE FOR ROUGH WORK / T% T4 o feru sirg
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61.

62.

63.

(21)

An object is vibrating at 5000 Hz. The time |61.

period of the sound produced is
(1)
(2) 0-0002 s
(3)
(4)

0-005 s

058
0-02s

Consider the following terms : 62.

>

Lightning
Landslide

Thundering

O a w

Tsunami

Floods

Earthquakes can cause

(1) B,DandE

2) A BandC
(3) Bonly

(4) BandE

.‘r
Select the correct statement regarding rods
and cones in the human eye :

(1)
(2) Cones are sensitive to bright light.

Cones are sensitive to dim light.

(3) Rods can sense colour.

(4) Rods are sensitive to bright light.

Which one of the following planets has no|g4,

natural satellite of its own ?
(1) Uranus
(2)
(3)

(4)

Venus
Jupiter

Mars

E
HI§ S%G 5000 Hz W F99 &L T B | I
f 1 AEd F1 B
(1) 0-005s
(2) 00002 s
(3) 05s
(4) 002s
A. dfea
B. YFE@eH
C. TR
D. g
E. ¢
T | B Hha B
(1) B,D IRE
(2) A,B3RC
(3) HIAB
(4) BS3NRE
a3 H AT 3 e & faww § wd
FYF HT IIH FIC :
(1) 9% ¥ ¥ % forg gumel 2 2 |
@) % dig g & forw gurd 2 § |
(8) IEATHTE U (TTT) T SYfT F TR F |
(4) ieTeRTd e wepTer o TTU gumE et ¥ |

frafafiea o8l 4 & frme s #8 wpfas
SYIE TE 8 2

(1)
(2)

(3)
(4)

EEE)
TH
FEEt

e
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65.

66.

67.

(22)

‘Good science education’ should fulfil some
basic validity. Which one of the following
validities is most appropriately fulfilled by the
concept of ‘shadow formation’ in class VI
syllabus at upper primary level ?

(1)
(2)

Process

Environmental

(3) Content

(4) Cognitive

A teacher frames a learning objective as —
«Making a device using simple electric circuit.”
This learning objective is matching with which
cognitive process ?

(1)
(2)
(3)
(4)

Understanding
Analysing
Remembering

Creating

Which one of the following statements about
scientific knowledge would you not agree
with ?

(1) Scientific knowledge is absolute, certain

and eternal.

(2) Scientific knowledge 1is socially and

culturally embedded.
3)
4)

Scientific knowledge is theory laden.

Development of scientific knowledge
involves imagination and creativity.

Which one of the following is the most
appropriate technique of assessment of
attitude and values development among
students by science education ?

(1
(2)
3

Paper-pencil test
Check-list
Rating scale

Observation

(4)

65.

66.

67.

68.

‘aﬁﬁﬁaﬁﬁm’ﬁﬁmm

Q1 AT A | 3= Truftes TR W & VI

qraTeEe § O wA % #Eed g
ﬁﬁaﬁaﬁt%umwna‘fﬁﬁaﬂﬁwﬁ

A B ?

(1 S
(2) diEsfig
(3) fawaasg
(4) EFHHS

s fnere foedl ST 39 Hl W THH
%_‘wmmmmmw
&1 Pt T i”asaxﬁma%w:ﬁ%ﬁq‘
mmwﬁgamm%?
(1)
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Consider the following edible plants :
A. Banana

B. Brinjal

C. Lady’s finger

D. Pumpkin

Select from these a pair of plants which has
two or more than two edible parts :

(1) Cand D
(2) AandD
(3) Aand B
(4) BandC

Which one of the following sets is the
combination of organs of human digestive
system that do nof carry out any digestive

function ?

(D
(2)
(3)
4)

Oesophagus, large intestine, rectum
Buccal cavity, large intestine, rectum
Buccal cavity, oesophagus, rectum

Buccal cavity, oesophagus, large intestine

Study the following statements about wvilli

(singular villus) :

A. They have very thin walls.

B. They are finger-like projections.

C. They have a network of thin and small
blood vessels close to the surface.

D. They have small pores through which
food can easily pass.

Identify the statements which give the
characteristics that enable the villi to absorb
the digested food.

(1) Cand D only
(2) A,BandC

(3) AandB only
(4) BandD only

Select from the following a set of ruminants :
(1) Buffalo, cow, deer

(2) Buffalo, cow, dog

(3)
(4)

Cow, deer, dog
Cat, buffalo, deer

69.

70.

1

72.

E
Frafafes @m-arg i w fa=r $Hifsw .
A, e
B. &
c. fid
D. g (i)
T § i 1 T g gh e e g @
3T @H-ITE 9T B § -
(1) C3MD
(2) A3INRD
(3) A3IMB
(4) B3MC

frafefad # @ q9e 9= 7 % 9T %S9

F I8 HH-A1 GY=T & S BIS UA FE 7@

AT ?

(1) 71, geei, TN

(2) H@ TfEHI, g8aH, TARE

(3) H@ Tfzew, ufeer1, vem™

(4) H@ Tz, afEe, gaEaE

M ¥ R § FefRe s w1 oA

Fifse .

! T g fufeat gt #

T el F A 390 TE weeAnd B € |

3T gEd TR arfgntet &1 e Her @

BN HaE & e BT |

D. ¥4 7éH fog B & foa i @ @
TSR Hehal 8 |

F FYE W UEEET S dRm W uiRE

05 Hl 9N F@ A0 g9 91 A0

YEH A 8 |

(1) %adC 3D

(2) A,B3MRC

(3) HaATAIMB

(4) $aa B3I D

frerfifigs srgait & & TR (wPri) wgal
F1 'Y= g

(1 ¥=, T3, TEm

(2) =, T, F

3) T, fam, $u

4) fugh, dg, f&w

Qwp
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73. Sometimes after doing physical work we get 73. wHfiwt wrdifes w H % T T ﬁﬁ
muscle cramps. This results due to F F o (wirs/fewE m@ ) 7 | :
(1) non-conversion of glucose to pyruvate. B 1 FHR 2
(2) non-conversion of glucose to lactic acid. (1) T@H 1 T # oftafda 9 & |
(3) conversion of pyruvate to lactic acid. (2) T"E"ﬁq &1 Afes 3 H qftafda 7 &
(4) conversion of pyruvate to alcohol. 3 qIFEaE B SfFes ot | fafda &
(4) UTEEdE I Yeeprerel § afafda g |
74. Which one of the following shows the correct
sequence of the path of urine in the human |74. frafafga § @ fras g I 93 § T
excretory system ? el 1 TS Y ° guE T 22
(1) Kidney — Urinary bladder — Ureter 1) TFH - T _,ngaﬁ%:ﬁ Lo -:E,fq'p‘i
( _Izulijremra U bladd: Ureth b M- _-)Wﬁ o
2) idney — Urina adder — Urethra
_}Ur;er ry 8) T — A — AR — TSR
) (3) Kidney — Urethra — Urinary bladder @) — TR > T >
_*_Ureter . 75. &S @@ o T Y TRl 10 km g 40
(4) Kidney — Ureter — Urinary bladder N R¢ 45 ko @ a0 4
— Urethra
£ sitge =T @ 97 w2 | 58 H q
75. A bus covers the first 10 km of its journey at #1 aftwd 9 B
an average speed of 40 km/h and the (1) 525 km/h
remaining 45 km at an average speed of (2) 50 km/h
60 km/h. The average speed of the bus for its @3) 575 km/h
total journey is (4) 55km/
(1) 525 km/h
(2) 50 km/h 76. frd aeg @1 e iR faafia ofa =
(8) 575 km/h fou Frefafias § & s swm 62
(4) 55km/h TeheT B ?
76. Which one of the following can be used to form (1) Ieet ggur 3ft I o g
a virtual and magnified image of an object ? (2) 3Addd 2o 3R ITA @ 2l
(1) Both convex mirror and convex lens (3) FHad Idad =g
(2) Both concave mirror and convex lens (4) Thad IAd e
(3) Concave lens only
(4) Convex lens only 77. iR 1 HROT 2
77. Polio is caused by a (D EEIE
(1) Protozoa (2 %ﬂT‘ﬁ (amH)
(2) Virus 3) At
(3) Bacteria .
(4) Fungi o S
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78. %—mwn%%m%mﬁwaam%, “&q
qwﬁﬁwﬁéaﬁ?%fﬁa%aﬁwﬁm%%
TS 3 IF g w e
am:”a;mvmé;%m%w%%qsaw
Hﬁ%m%%@aﬁﬁnmwaﬁﬁﬁ?

pictures taken from the space and
helping her in understanding how large
the radius of the Earth i,

(2)  Explain that although the Earth is round
like a ball yet it appears circular like a
plate,

(2) ﬁ%wﬁﬁq%wﬁwﬁazﬁr
ﬁ%rﬁa%masmaﬂ@z)eﬁruﬁ
THR el Bt 2 |

(3) wmﬁ%ﬂwmm,aﬁ%
agaéﬁﬁmﬁéﬁam%,ﬁﬁ

(3)  Accept the statement ag it indicates the
child’s idea and needs to be respected.

(4)  Reject the statement and te] the child

that it is like a globe and we live on the T fezm ST En‘f%({ '
surface of the round Earth, (4) T FY7 T sy FRT 3t T ¥
I £ 95 i 1 9 2 ot s
79. Which ope among the following is not g 9efl ¥t gag o7 @WAE
s;:-:fylie::ln? of science education at upper 79, Frefaf ¥ 3 | S - Y : R W
fomm Rierr #1 gt T T 8o

(1) To know the facts and principles of ! ; .

science and its applications 1) famm a; T 3k m@ q E W+
(2) To gain the knowledge available through d H
memorising the content and process of

science

(3) To imbibe the values of honesty, integrity
and cooperation

(4) To nurture the natural curiosity,

aesthetic senge and creativity in science a9 o G Iﬁﬂ?ﬁrﬁ I YSHIeHRar 7
and technology Ty
80. Which one among the following questions |80. fifafag g 8§ g - H-31 Tt v’
would be an ‘open-ended question’ ? 22
(1) Explain why we always see the same side (1) =regn ifse s &9 Hag TSH H U
of the moon, & (W) =1 2wy g1

(2) m?ﬁﬁq,wﬁwmmwm
wﬁam,?ﬁwaﬁ%ﬁmm

(2) Suppose the moon emits light of its own,
would it still haye phases ?

(3) Meteors are not visible during the &t 2 y
daytime. Explain the reason. @ f&% 9y 3ot ﬁ@é & | R
(4) Why does the moon change its shape afeq SAare 5|§|l§1C{ !

(4) Wmmnﬁrﬁqmﬁw%?
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81.

82.

83.

(26)

Which one among the following situations
gives the learners the best opportunity to
‘discover knowledge’ ?

(1) Students being instructed through ‘team
teaching’ on ‘materials of daily use’

(2) Students being first shown the
demonstration of ‘Archimedes Principle’
followed by a detailed explanation

(3) Students labelling the given materials as
‘conductors’ and ‘non-conductors’ by
placing them in a self-assembled closed

electric circuit

(4) Students undergoing an elaborate and

detailed session of ‘programmed
instruction’ on the topic ‘components of
food’

I put one ear on a steel railroad track.

A. I am able to hear the approaching train
sooner through the track than through
the air.

B. Sound travels faster through steel as
compared to air.

C. Sound travels faster through solids as
compared to gases.

Of the above three statements, identify which

ones are observations and which are

inferences.

(1) B is an observation and A and C are
inferences.

(2) C is an observation and A and B are
inferences.

(3) A and B are observations and C is an
inference.

(4) A is an observation and B and C are
inferences.

Describing the relationship between the

distance travelled by a ball that is rolled on
the inclined plane and the angle of the plane
by constructing a graph is an example of

(1) Hypothesizing

(2) Predicting

(3) Interpreting

(4)

Communicating

81.

82.

83.

Frafafes § @ w96 ofiftafy Prenft

Fm A Es F fou gay FaE geH

7

(1) feenfdai =1 Fm o’ go =
&1 FmiE & vy § e & o @ R

@) foofda = ma ‘anfSfids & fag<’

3) faeneff &t w8 awfimi w1 =g w=ww, 52
fagq vfuy § W F W 9w 3k
‘e (fagaidt) & dsa wm R

4) faeneff ‘Giom F oE faww w ‘9o
A % guitaha iR foega @9 & wm
dw®E

H o9 Us % e il @ 92l W @an

L4

A # W Tl A @ st g it gorn |
ol 1 el g Sy g & €

B. o1 &I g1 ® @ e § s 9 @
T T 7

C. ol i gorT # sty 3|t § stfues we @
T AT R |

I dF HUH § @ I7 vREC R e &

HI-E J&0r B 3N P freed F
(1) BY& 2 au7 A 3R C e & |
(2) CY&wr g 991 A 3R B sy |

(3) AR B & qur C fshy 2 |
(4) Ao 2 91 B 3k ¢ fmed &
et amma (@) swas W, @& 7 & g
qehd gL a@ HI T g 3N W 9Ha ()
qe & HIV & §E h TEY B UH UTH
TR Tg@men man ® | 98 fafafaa & 3 feae
ISR B 2

(1) YfRehedar AT
(2) STFHE ST

(3) T/ w5
(4) FETST HET
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86.

84.

(27)

The common characteristic properties of
plastics are

(1) durable, good conductor of electricity,

non-reactive

(2) good conductor of heat, light in weight,

good conductor of electricity
(3)
(4)

durable, light in weight, non-reactive

durable, good
non-reactive

conductor of heat,

Consider the following statements about

biodiversity :

A. Tt refers to the total
individuals of a particular species living
in an area,

number of

B. It refers to only the flora and fauna of a
particular species in a given area.

C. It refers to the various (variety of) species
of flora and fauna present in an area.

D. It is an artificially protected area for
animals.

The true statement(s) about biodiversity is/are
(1) A,BandC

(2) A,CandD

(3) Aand B only

(4) C only

Consider the following terms related to cells :

A. Chromosome

B. Gene
C. Nucleolus
D. Ribosome

Out of these, the parts of nucleus of a cell are
(1) Cand D only

(2) A,BandC

(3) A and C only

(4) Band C only

84.

85.

T o g fafine o #

(1) T, foga & gumes,

- iR

T % g, 99 § 79, fOgd %

LElES
fewrs, avm # o, m-Afifranfer
fewrs, e % gure,
s-arfuframsfia

Sa-fafawar & w=y # f=fafes wo w

foram Hifse .

A u8 Tret &3 d U 9 arefll fedt fag
wfiefis & Fral I o1 G&T F Ieor@
HT R |

B. ¥ fodt fu mu 83 % Fae wregema ok
mﬁm%aaﬁ%m%ﬁamﬁawaﬁa
G

C. =g foefi fou U &% & uegem@ ok
witems 6 fafim (fafaw) wfisfe =
IeoiE HA! B |

D. & 9Hat & fou FHm w9 @ samn
U T 89 R |

Sta-fafauar % gl o aft wuw 23

(1) A,B3MRC

(2) A C3RD

(3) FIAAIMB

(4) HAAC

HIfwet @ wefe fFeffes @ w R

=i

(2)

(3)
(4)

A SHEEE (o)

B.

c. fFasiera (FfEw)

D. TEEEH

T B et IR % Fgw Sy #
(1) %aa ¢ 3D

(2) A,B3RC

(3) HATAIMC

Had B 3N C

(4)
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In human beings, the correct sequence of the
events during reproduction is

(1)

(2)

(3)

(4)

zygote, gamete formation, fertilisation,
embryo

gamete formation, zygote, fertilisation,
embryo

gamete formation, fertilisation, embryo,
zygote

gamete formation, fertilisation, zygote,
embryo

Which one of the following elements must be

available in sufficient quantity in the water of

a pond in at tadpoles are growing ?

(1)
(2)
3)
4

An

Oxygen
Nitrogen
Chlorine

Iodine

object of mass 6 kg is sliding on a

frictionless horizontal surface with a uniform
speed of 3 m/s. The force required to keep the
object moving at the same speed along the
same straight line is

(D
(2)
(3)
(4)

27 newtons
54 newtons
zero newton

18 newtons

Tartaric acid is found in

A,
B.
C.
D.
(D
(2)
(3)
4)

Lemons

Amla

Unripe mangoes
Grapes

Aand B

Cand D

Aand C

B and C

87.

88.

89.

qrEEl # 9 1 Fafy I geA &1 @8

(1)
(2)
(3)
(4)

A, T S, T, o
IHH S, JHA, e, -y
FH S, PR, Yo, g
e w1, e, T,y

o areTe & 9@ # 2eUe gig R B IS
i fraffea & @ fom a0 A w@iw #
IAEd g1 =118 ?

(1) AT

(2) A

(3) FARH

(4) AEER

H1E 6 kg gogHE w1 fuvg foreft worfea &
93 T 3 m/s I THEUH I § fEa @ 2
7 fivg =i & o1 ¥ 3w W@ % o
fa 0 % fore sravas 9 B

(1
(2
3
4)

27 e
54 e
I A
18 A

2refes 3veT 91T AT B

A.
B.
C.
D.

(1)
(2)
(3)
(4)

Higett &
feen §
F= i §
S A
A 3B
C 3D
AR C

B3R C
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Candidates have to do questions 31 to 90
EITHER from Part II (Mathematics and
Science) OR from Part III (Social
Studies/Social Science).

ghierfefar &t wya 31 @ 90 T A GET I (TOTT &
famr) ar 9rr [ (SmTfas Jegad | arETfas)
faar) @ &3 & |

PART III / 9T 111
SOCIAL STUDIES / SOCIAL SCIENCE (®maTferes stegas / @t famm)

Directions : Answer the following questions by
selecting the most appropriate option.

31. Which one of the following is not a component
of maps ?
(1) Size
(2) Symbols
(8) Distance
(4) Direction

32. What is the angle of inclination of the Earth’s
axis with its orbit plane ?
1 o

1) 23—
(1) 2

(2) 45°

10
(3) 665

(4) 90°

33. The ‘Janpad Panchayat’ has
(1) many Zila Parishads under it.
(2) many Municipal wards under it.
(3) many Gram Sabhas under it.
(4) many Gram Panchayats under it.

34. Consider the following two statements, A and
B, on ‘Social advertisements’ and choose the
correct answer :

A. Social advertisements are those
advertisements that have larger message
for the society.

B. Social advertisements are made only by
the State.

(1) Both A and B are false

(2) Both A and B are true

(3) A istrue and B is false

(4) Aisfalse and B is true

Adwr : [Aefitea 34 & 3 &7 & fore =@ Ifera
fa@ey g7 |

31. fr=fefigs d @ aafaE &1 9 & e 77
27
(1) 3HR
(2) wdtH

3 gl
(4) fesm

32. I HEW FHaA W Y= F AG F FHA
(3Hfq) wior 7= 2 2

1
( }

(2) 45°

o

1L
(3) 66 5

(4) 90°

33. SFYE Y & FA=<rid
1) =3 foren vfsg 20 F |
(2) s TRAAH IS B & |
(3) % UTH TWTC B & |
(4) % UTH q=Ed Bt & |

34. ‘gfes fasmeEl w f=fefaa @ i, A sk
B, W fomm #iftw i #ft s #1 ===
$ifsm .

A amfes o 3 o & S o &
o forega = o E¢9 1 TER0 FKd # |

B. gmie fase $ea @R (Ts) g’
wega e S # |

(1) A 3R B 2H Ted &
(2) A3MRBIE wd &

(3) ATH R M BIEE R
(4) ATed? 3B R
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35.

37.

38.

(30)

Which one of the following states of India is
popular for the ‘Kalamkari print’ ?

(1) Tamil Nadu

(2) Karnataka

(3) Andhra Pradesh
(4) Punjab

Which one of the following tribal groups is
mainly confined to Uttarakhand ?

(1) Gonds

(2) Mala Irular
(3) Bhil

(4) Bhotia

Who among the following rulers were best
known for controlling the ‘Silk Route’ around
2000 years ago ?

(1) Kushanas

(2) Pandayas

(3) Cheras

(4) Cholas

Under ‘Subsidiary Alliance’, the East India
Company forced the Indian rulers of the states
to

(1) have their independent armed forces, not

get protection by the Company, but still
pay towards its maintenance.

(2) not have their independent armed forces,
get protection by the Company, without
any payment towards its maintenance.

(3) have their independent armed forces, as
well as get protection by the Company
and pay towards its maintenance.

(4) not have their independent armed forces,
but only get protection by the Company
and pay towards its maintenance.

35.

36.

37.

38.

a1 fefafea § 3 #9a o= o
B % foru Al 2 0

1) affe g

(2) HAleH

(3) 30y wew

(4) U

freafifen somdts wggt & & #ma
IaUEE § gwiza @ 7

(1) Tg

(2) HIAT FEeR

(3) i

(4) wifea

ST 2000 9§ & Feferfes § & w98
wm At w e wey % R gatfs
g 9

(1) FHu

(2) uwey

(3 =W

(4) =

TEEE W % i, $wosfoem st

U1 & RS TRt Y ST e

(L 9 avft wda A whe @,
ST & YoM A8 rft, v R oft
TE-@E 1 @l 3% a8 FE1 B |

(2) émwﬁaﬁﬁmwﬁsqﬁt@ﬁ,
frft wwwmm ¥ =5 % 3 s
U U S |

3 F I wax A whs @
HIU-HTY I HE gR gean & ot
Wh WIEE H @S 3E s
BT |

(4) 3T FE o T A ke T8t
T AT A GRT T T #
3N 9% T@-W@E F @9 I TE
& |
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39.

40.

(31)

Which one of the following is not a fact about
Ahom ?

(1) The Ahom state was divided into clans
called Paiks.

(2) The Ahom society was very sophisticated.

(3) The state of Ahom was created by
suppressing the older political system of
the Bhuiyans.

(4) The Ahom state depended upon forced
labour.

The term, Hagiography refers to

(1) writing of a saint’s biography

(2) writing of a saint’s autobiography
(3) writing of a ruler’s biography

(4) writing of a ruler’s autobiography

Which one of the following is a type of tropical
grasslands 7

(1) Savanna

(2) Steppe

(3) Down

(4) Pampas

Consider the following two statements, A and
B, about food security and choose the correct
answer :

A. The wultimate aim of agricultural
development is to increase food security.

B. Food security refers to the existence of
availability of food to all people in the
times of natural calamities, when there
occurs a shortage of food.

(1)
(2)
(3)
(4)

Both A and B are true
Both A and B are false
A is true and B is false

A is false and B is true

39.

40.

41.

42.

[PSt=Fever® +~

E
78m % favg § Fafafeg § @ 901 & 9
T8 # ?

(1) Em T Foi § fawfsm a1, 52 e
SHET SATET AT |

TR HHTS §§d & qieha o |

ugal W i GO ToHifae SEEE &6
20 W% M TsF HY TG I T |
e UsT SR W fft o |

(2)
(3)

(4)

Bt w=fm 2

(1) T4 % e oeT |
(2) TE F AHHY AGA
(3) IMEH & SAeH oET §
(4) VES & AHHYT oG 9

fefafes & @ sRa w Iwmledd
TS B ?

(1) |&EHl
(2) =i
(3) SrE&A
4) TEE

@ g & fovg # frefafaa < s, A ok

B, W fmm #fiftm ok & sm -1 =

$ifvre

A FE F fowm w1 =@ 957 @@ e
S R |

B. W & ¥ Ay ® wepfasw smmagrst
¥ 2 v @ gt Y = g R 9w
gt T R @ wmt SueTey AT |

A 3B AT Tt #

A 3R B qHT T &
ATE & 3 BTeE R
ATET 3K BHE ©

(1)
(2)
(3)
(4)
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43. Which one of the following is not considered

44,

45.

46,

47.

(32)

as a fossil fuel ?
(1) Petroleum
(2) Natural gas
(3) Firewood
(4) Coal

Which one of the following may cause
tremendous destruction only on the coastal
areas ?

(1) Tsunami
(2) Volcano

(3) Tides

(4) Earthquake

The innermost layer of the Earth is mainly
made up of

(1) Silica and Iron

(2) Nickel and Alumina

(3) Silica and Alumina

(4) Nickel and Iron

Which one of the following features is a result
of depositional work of a river ?

(1) Meanders

(2) Ox-bow lake

(3) Waterfall

(4) Flood plain

During an earthquake at what measurement
on the Richter scale do things begin to fal] ?
(1) 6:0 or higher

(2) Over7-0

(3) 20

(4) Over 50

—

43.

44,

45.

46.

ﬁn%ﬁaaﬁaﬁm@ﬂsﬁmiw
HHET 74T 2 2

(1) Ygifery

(2) urpfoe Ag

(8) TS THET
(4) HIEAT

ﬁw%f@aﬁﬁﬁq—wm%ﬁaméi
amrﬁﬁﬁmaﬁm%?

(1) g
(2) SETITgE:

(3) SER-yrey
(4) Y

‘Mﬁmmﬂﬁmmzaﬁ%

(1) oo g e g
2 fre v Ygfir @
®) s @ g @
4 F=d @ ar g

ﬁw%%aﬁﬁﬁq-mmw@%ﬁ%ﬁw
w1 1 gftomy § o

(1) fagd
(2) =19 zfe
(3) Iy

4) =TeFHa Azm
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51.
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Which one of the following was introduced
with the coming of British art in India during
the colonial period ?

(1)
(2)
(3)
(4)

Mural art
Oil painting
Perspective

Miniatures

Around 2000 years ago, Varanasi was a
famous craft centre where Shrenis were

(D

Buddhist monasteries.

(2) associations of craftspersons and
merchants.

(3) iron ploughshares used for agricultural
production.

(4) coins that have designs punched on to the

metal.

Consider the following two statements, A and
B, on manuscripts and inscriptions and choose
the correct answer :

A. Manuscripts were usually written on
palm leaf or on the specially prepared
bark of a tree known as birch.
Inscriptions were written on relatively
hard surfaces like stone and metal.

Both A and B are true
Both A and B are false
A is true and B is false

B.

(1)
(2)
(3)
(4)

A is false and B is true

Which one of the following was the language
of administration under the Delhi Sultans ?

(1)
(2)
(3)
(4)

Persian
Hindi
Arabic
Urdu

48.

49.

50.

51.

PStzFever

E

sl w1 % dnm wia | fafew wen &
o % qy fafafes & @ fFa o &1 5=
TR §3 A1 2

(1) fufa wen

(2 aa fa=

(3) ufey fafy

(4) oA

AT 2000 99 YES anvEl U wfhg freg
g o1 wiat Aoft &

(1) g HS |

(2 Tregsrt o st & g9 |

3) P I F forw vy R F w F

B |

4) urg % fows S w amefoal s s
off |

ugfafrai o sficgl w f=fafes 2
HAl, A 3 B, W fomm Hifsu ot wd smw=
Wﬁﬁt{:

A, gl g aiewEl iYEl ¥ AW
3§ #1 B 4 fau afs ¥ FR W
o1 et st off |

FfierE geer qun aTg et SMaTHd Hen
gl | Ikl fr s & |
AR B A wd #

A 3 B 21 T &

(3) AWE 2 3R BT 2

(4) AT ® 3R BHE B

foeeft & geami & wwe wa § F=fofaa 3 §
- v geafes wqm off 2

(1)  HRHE

@ &=

(3) o

(1)
(2)

(4) I5
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52.

54.

55.

56.

53.

(34)

In Buddhism, Bodhisattvas were

(1) Persons who attained enlightenment.
(2) Chinese Buddhist pilgrims.

(3) Buddhist scholars.

(4) Statues of Buddha.

Which one of the following was not the
condition to become a member of a Sabha in
the Chola Empire ?

(1) They should be between 25 and 70 years
of age.

(2) They should have their own homes.

(3) They should have knowledge of the
Vedas.

(4) They should be owners of land from
which land revenue is collected.

The Rowlatt Act, 1919 was opposed because

(1) it gave right to separate electorates to
Muslims.

(2) it disallowed Indians from possessing
arms.

(3) it curbed the Fundamental Rights like
Freedom of expression and strengthened
police powers.

(4) introduced dyarchy in provinces.

Many of Chanakya’s ideas were written in a
book called the

(1) Atharvaveda

(2) Yajurveda

(3) Dharmashastras
(4) Arthashastra

Garbhagriha, the most important part of some

of the earliest Hindu temples, was

(1) the place in the temples where people
could assemble.

(2) caves elaborately decorated with
sculptures and painted walls.

(3) the place where the image of the chief
deity was installed.

(4) the place where religious rituals were not
performed.

52.

53.

54.

55.

56.
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58.

59.

60.

(35)

Which one of the following grasslands is the
homeland of Native Americans ?

(1) Steppe
(2) Pampas
(3) Velds
(4)

Prairies

Breeding of fish in specially constructed tanks
and ponds is known as

(1) Pisciculture
(2) Horticulture
(3) Sericulture
(4) Viticulture

Bering Strait is a narrow stretch of shallow
water that connects

(1) Pacific Ocean and Atlantic Ocean

(2) Aretic Ocean and Pacific Ocean

(3) Indian Ocean and Pacific Ocean

(4) Atlantic Ocean and Indian Ocean

“On 215¢ March and 23" September, the
whole Earth experiences equal days and
nights.” This is because

(1) Direct rays of the Sun fall on the equator
and at this position, none of the poles is
tilted towards the Sun.

(2) Direct rays of the Sun fall on the Tropic
of Cancer and at this position, one of the
poles is tilted towards the Sun.

(3) Direct rays of the Sun fall on the equator
and at this position, one of the poles is
tilted towards the Sun.

(4)

Direct rays of the Sun fall on the Tropic
of Capricorn and at this position, none of
the poles is tilted towards the Sun.

57.

58.

E
fafafga amfigi & 8 s mfEh 1
et =1 fame o 2 2

(1) T
(2) 9YH™E
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(1) Y9I HEEFR 37 FeaAiiesh HeEmr
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61. What kind of language needs to be used in|gj, s e % g § w@m #i S Tt
Social Science teaching ? a7 St B =R 2
(1) Representative of dominant groups (1 ¥q@ FIT-[@ %1 gfaffe @
(2) Discriminatory (2) wEraTael
3) @eEY 3R HAGHA
(8) Neutral and sensitive @
4) Hvea

(4) Difficult

6. THAIE® TEUE W AN e fe@mEn S

62. Projects on democratic institutions could be w1 &
S @) T R e s e o
(1) they can be analysed to identify features ﬂ‘ﬁﬂﬁ ) T S T R |
d chall ; o
i @ 33 sengE! § aftfa § It T %
(2) they are, as described in the textbooks. T
(3) they are ineffective. (38) 9§ TN gHETEt T8 8 |
: (4) students must accept these institutions (4) faenfiEt =1 = oyl @ 99 § a9
Y as they are. m HFET a-r%q |
63. Summative assessment is inappropriate for | 63. . i3 W frfafea % fore g
the following : 2
(1) Deciding upon the grade (1) e = o &
(2) End of the term assessment (2) EATEd W % = H HedhA Bl
(3) Monitoring the progress of @) TogoaRem wfswn F 2 wfa
teaching-learning process I TN
(4)  Summarising student learning (4) faemeff ¥ iy = grsieRter

64. I 3@ fepuss o Iweft & 2
(1) i srafy $ st w g
(2) faftm amnedt i g

64. What are pie diagrams useful for ?
(1) Showing features of a historical period

(2) Comparing different amounts

(3) Showing a particular amount in relation (3) THU % TEHY 7§ forelt T I I af
to the whole ST
(4) Showing a pattern (4) T YRET S TSR HE
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65. Each chapter of the History textbook for|65. & VI & sfagm i UIGA-35F % JIF U8
class VI is introduced by a young girl or a boy. &l AFATT Th g Sh I [GECHE g hi
Why do you think this strategy has been T8 | 9% foEm q1ed-J&ish fmtan i I8
| adopted by the textbook makers ? wrifa F=91 argarE 7E R 0
(1) To show boys and girls can study history (1) feEm & =% g wEfRal sfmm w
(2) To evaluate the content of the chapter AT F Hhd &
(3) To inculcate a spirit of enquiry and (2) 918 H ﬁwmﬁ I W ST
discovery in students 3) foerin 7 qgam @ @is & wE @
(4) To show how introduction can be done faefem e

(4) F8 S o wedATEA B8 & o1 gt &
' 66. “You are a peasant in Alauddin Khalji’s or
Muhammad bin Tughlaq’s reign and you|ge ‘g e faest o Hreme fam RUED %
cannot pay the taxes demanded by the Sultan. E FE § uH feEE # sir 3y gea™ g

What will you do ?” >
e paEoet F4 2
In the above question what is being TR R 3 Lachal '

encouraged ? ng?ﬁmﬁﬁmaﬁmﬁmmwﬁv
: (1) Historical imagination (1) 3fqem F ded § Fom

(2) Importance of sources (2) Hidl w0 HE
' (3) Respect for culture (3) WEHIG H THH
| (4) Importance of literature @) wfEe 1 AR

67. At the upper primary stage, Geography and |67. 3= ToIfeh & W Ti o 3R e T |

Economics together can help in the following : frfafes & wems & @y g

(1) Developing a perspective on issues of (1) wiaT, FEee wd fawm % g & ufa
environment, resources and development gies faswfam s

(2) Understanding plurality (2) gAaIq FI FEIAT

(3) Developing knowledge of places and (3) uFfEEm g TE % IR o A sl
environment AT

(4) Understanding optimal allocation of (4) YA % Toan ey = azET
resources

68. TIHICHS o i e fohaT ST & 2
68. When is formative evaluation conducted ?

(1) TWFHFaH

(2) % 3 B TgH & @
(3) Trerorarfrm wfkan % dvm
(4) THEH < H

(1) At the end of the session
(2) Before teaching a new unit

(8) During teaching-learning process

(4) At the end of a unit
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71.

72.

73.

69.

70.

(38)

Biases, discrimination and prejudices in the
classroom could be avoided by

(1)
(2)

organising a lecture on humanity.

ignoring them, as children will grow out
of them one day.

(3)

discussing different dimensions of social
realities.

(4) handing out the Preamble of the

Constitution.
Teacher ‘B’ is currently teaching a lesson on
history of a region. What do you think ‘B’
should do ?

(1) Highlight the similarities and changes in

different time periods.
(2
3

Highlight identities of different rulers.

Encourage the students to remember the
main features of the period.

Highlight the similarities of the present
with the past.

(4)

‘What is the purpose of evaluation ?
(1) To identify problem students
(2) To rank children

(3) To encourage competition

(4) To improve teaching-learning processes

Historical films are useful in Social Science

teaching as they

(1) concentrate on an individual’s problem.

(2) portray history as fiction.

(3) bring alive various dimensions of a
specific social setting.

(4) have good entertainment value.

What kind of outlook should be there towards
Social Science textbooks ?

(1)
(2
(3)
(4)

As a document to be memorized
As an avenue for further enquiry
As a repository of knowledge

As a final statement

69.

70.

71.

72.

73.

ST & GeTTT, Hewre S qEiE i fRe
g g o S w2 2

(1) WHEEE] T U SRS 1 IR i
(2) IR S W wE 7 E, i &=
U AU T2 A9H-3TT % B a1
gt Sratasas % fafie st &
1§ it w5

(4) wfaum % HE H JGH Fh

e &7 % sfaeE % U & e 9 nfi g
@ | g fomm # 9 @ @ HE =0 ?

(1) fafirm wemafud § gamaed g aRaEdAt
G T ST

fafirs sraent & saftheal T YIS SIOHT

safy % gea @ & fenf w1 e
F % foru gremfEa s

FduE I YR @ FEEAS WO
Al

(3)

(2)
(3)

(4)

HeATeh T Ied F1 8 7

(1) FoEgTenss faenfda it gg=e e
(2) &= = AR | Fien

(3) Wi =1 Sreattaa wE

(4) Toregorarfermm wfsransti & gur @M1

gty fagm % foew o tfeefes feed

gt &

(1) SafFTd TE T S Higd H | |

(2) 3hEm # wfoad wu1 % w0 § fofa wH
T

3) e Fvw wmtaes G % fafie smmt
%1 ThE faam wE # |

(4) TH o0 FAHH Teqd FE H |

gty fagm & geugE % S w4
gfeeshion g =ty 2

(1) 9 FE A T AeE F F9 H

(2) T HAS % FIH F €9 H

(38) FH % WX % ®IH
Hf=m aheg & ¥4 |

(4)
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75.

76.

71.

(39)

Tawa Matsya Sangh, a federation of
fisherworker’s cooperatives is an organization
fighting for the rights of displaced forest
dwellers in the State of

(1) Uttarakhand

(2) Chhattisgarh

(3) Jharkhand

(4) Madhya Pradesh

Which one of the following Fundamental
Rights is mot guaranteed to every arrested
person under the criminal law as stated in
Article 22 of the Constitution ?

(1) Confessions made in police custody can be
used as evidence against the accused.

(2) The Right not to be ill-treated or tortured
during arrest or in custody.

(3) The Right to be informed at the time of
arrest of the offence for which the person
is arrested.

(4) The Right to be presented before a
Magistrate within 24 hours of arrest.

The Members of Legislative Assembly are
(1) elected by the people.

(2) appointed by the Governor.

(3) appointed by the Prime Minister.

(4) appointed by the Chief Minister.

A coalition government implies

(1) Power sharing between two or more
political parties after elections when no

party has been able to get a clear

majority.

(2) Power sharing between State
Government and Panchayati Raj
Institutions.

(3)

Power sharing between government at
the Centre and State.

(4)

Power sharing between executive and
judiciary.

74.

75.

76.

7.

da1 "o gE, HgAN Fl mEent amfaa
uF TY, W@ Wo ¥ fowufie et
el F e s w2, R Tsa g & 2
(1) 3IToEs §
(2) oeETg |
(3) ¥N@EH
(4) Weg ye§ |

afaum & s=ag 22 # sfgfaa weed (33)

F F A Ak R SR

frafafea # & w991 difas aifusn 777 oo

TR ?

(1) gferm ferma 4 fiu o sewenfan s9@ @i
WAt % flgems deg & 9 W e
fore <1 wpan 2

gt & 3 I fewma § foeedt oft o
% gGER A1 AT § T2 FI AYSA |

frgard! & 999 38 98 I &1 AFR 2
for frgarf PR R @ i s @ 2
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foum w1 % gem
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(2) Tsaur g frges fee 9 # |
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TS TR ° YT 8

(1) A& & arg et ot g@ @t T @gEa |
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T 61 T |
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RIECE

E
H
*

(2)

(3)

(4)

(2)

(3)

FrIfeTeh! R =AEYIfRT & = g1 6
qrEeHt |

(4)
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Comprises (1) ’ifﬁﬁ, , USHife fasm AT oy
(1) gce;f:;piilsy, History, Politica] Science and @ TR ﬁ?ﬂ?, ‘Eﬁﬁ: m o7

(2) Politiea] Science, Geography, History ang
Sociology

(3) History, Geography, Politica] Science ang
Environmental Science

(4) History, Geography, Economies and
Environmental Science

79. mrﬁua;ﬁmﬁmwwmqaﬁmwm

79. The Position paper on Teaching of Social
Science emphasiseg

' (1) respecting different Opinions  apg
’ éXamining jdeas ang Practices,

(2) accept socia] hierarchies,
(3) increasing the use of textbooks.

(4) éncouraging memorization.

80. Maps ang diagramsg in a Socia) Science
textbook are relevant ag they

(1) add a new dimensiop ¢, a concept,
(2) are made by experts.

(3) make textbook attractive.

4) clarify 5 concept,

8l. A case study of 5 socia] Mmovement given to a

following ﬁq’%’%ﬁ B e TR 757 2
(1) Solutions to the movement (1) 3"7@?!7{ F HATYT

(2) Backgroung of the movement 2 F=rem i T3y

(3) Objectiveg of the movement 3) 37% * 3%?27

(4) Problem areas of the movement

82. While teaching Humap Resources to class viyr | 82. e VI 3 Frenfefa F 7 bl ”. %

(2)  Utilization of resources by human beings (2) m'q'a’[ ST FETYHT 5y ELRI
(3) Distribution of population @) m 1 ﬁ’(ﬂw
@) i Feryst o LES

(4) Importance of physical resources
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86.

(41)

Which one of the following is not a function of

the Gram Panchayat ?

(1) Executing Government schemes related
to generation of employment in the
villages

(2) The construction and maintenance of the
infrastructure of the villages

(8) Levying and collecting local taxes

(4) Gram Panchayat elects its Panchayat
Secretary

Which one of the following does not fall within
the purview of Civil Law ?

(1) Disputes related to sale of land

(2) Harassing a woman for dowry

(3) Filing a divorce case

(4) Claiming custody of children

Which one of the following statements is
incorrect about the judiciary ?

(1) Judiciary has the power to strike down
laws passed by the Parliament.

(2) The judicial system provides a
mechanism for resolving  disputes
between citizens, between citizens and
the government, but not between two
State governments,

(3) The legislature and the executive cannot
interfere in the work of Jjudiciary.

(4) It plays a crucial role in protecting the
Fundamental Rights of citizens.

The Right to Constitutional Remedies

(1) allows only the linguistic minorities to
approach the court if they believe that
their cultural and educational rights
provided in the Constitution have been
violated by the State.

(2) allows all citizens to approach the court if
they believe that any of the Directive
Principles of State Policy have not been
fulfilled by the State.

(8) allows citizens to approach the court if
they believe that any of their
Fundamental Rights have been violated
by the State.

(4) allows only the religious minorities to
approach the court if they believe that
their cultural and educational rights
provided in the Constitution have been
violated by the State.

83.

84,

85.

E
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88.

89.

(42)

The ‘Civil Rights Movement’ was started in
the USA
(1) to demand equal rights and address

racial  discrimination for all the
African-American citizens. '

(2) to demand voting rights of the
African-American men,
(3) to demand social security of the

African-American senior citizens.

(4) to demand voting rights of the
African-American women.

Which one of the following statements is not
true about the Parliament of India ?

(1) In the matters dealing with finances, the
government does not require
Parliament’s approval.

(2) The Parliament while in session, begins
with a question hour.

(3) The Parliament consists of the President,
the Rajya Sabha and the Lok Sabha.

(4) The Parliament in our system has
immense powers because it is the
representative of the people.

While teaching Social Sciences, a teacher must
attempt to

(1) focus upon remembering the details.

(2) focus upon facts, values and patterns.

(3)  focus only upon facts, but not on values,
(4)  focus only upon values, but not on facts.

Suppose the prescribed Social Science
textbook is difficult for the students. What will
youdo ?

(1) Provide a variety of supplementary
materials.

(2) Dictate summaries of each lesson.
(3) Use question-answer technique.

(4) Emphasise rote learning.

87.

88.

89.

mmaﬁﬂwﬂﬁmﬁﬁaﬁwm@m’
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Candidates should answer questions

from the following Part only if they
have opted for EN GLISH as
LANGUAGE - 1.

wieeff fr=fafas wm % gt ¥ 3
wael At ¢ AR I W — 1wy
foshed et = & |



http://upscfever.com

[PS(=zFeve r.2 B

E (44)

J PART 1v

LANGUAGE 1
ENGLISH

Directions : Read the passage given bejoy and
answer the questions that follow (Q. No. 91 ¢ 99) by

inferior in many ways,

And the children, the little children of the
‘ Indian villages, how they tore at my heart: thin, big

91, During the colonial rule, the villages suffered
because there was/were !

(1) no schoolg in the villages

(2) not enough land for agriculture
(3) not enough food for the children
(4)  no jobs in the villages

93.

(1) there were not enough jobs for all
(2)  the trade Was under the colonja] control

(3) there wag a large numper of young
intellectuals

(4)  business was not ﬂourishing
However, the cities were better off than the
villages becauge ,

(1) the Yyoung men were happy

(2) the children, at least, were not hungry

(3) all children were highly educated

(4) the educated youth got jobs

Which one of the following is true ?

(1) The Russian Peasant coulq compare with
the Indian pPeasant,

(2) The Indian Peasants were Superior to the
Chinege Peasants,

(8) The Chinese beasants were better off
than the Russian Peasants.

(4) The Indian Peasant was inferjor to the
Russian Peasant,

The writer believes that a/an should

feel sorry at the sight of these poor children,

(1) Russian

(2) Indian

(83) Chinese

(4) Englishman

The English rule made Indig
(1) technically rich

(2) industrially strong

(3) culturally strong

(4) €conomically poor

e P AN
(1) Indians married young

(2) Indians did not haye many children
(3) India wag full of young people

(4) Indians lived a healthy life
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98. The towns and cities were frothing with|100. The poet seems to admire &
‘ unhappy young men. The underlined phrase (1) parlour generals
[ means : (2) field deserters
‘ (1) devoid of (3) wage earners
(2) full of (4) farm workers

(3) lacking in '
) 101. What is common between parlour generals
(4) angry with and field deserters ?

(1) Both love to work.

(2) Both enjoy respect in society.
(3) Neither of them fights.

(4) Both of them love fighting.

99. The final indictment was inevitable. What
does the underlined word mean ?
(1) award
(2) negation
(8) accusation 102. What happens when work with mud gets
(4) punishment botched ?

(1) Tt leads to satisfaction.

(2) Hands get dirty.

(8) No one pays for it.

(4) It is abandoned.

Directions : Read the given poem and answer the
questions that follow (Q. No. 100 to 105) by selecting

{ the most appropriate option.

103. The figure of speech used in lines 12 — 14 is
' I want to be with people who submerge

in the task, who go into the fields of harvest (1) personification
3 and work in a row and pass the bags along, (2) alliteration

who are not parlour generals and field deserters (3) irony

but move in common rhythm (4) metaphor

6 when the food must come in or the fire be put out. -
104. Mud in the hands of a good craftsman becomes

The work of the world is common as mud.

Botched, it smears the hands, crumbles to dust. (1) a useful article
9 But the thing worth doing well done (2) an expensive article
has a shape that satisfies, clean and evident. (38) awork of art

(4) a museum piece

Greek amphoras for wine and oil,
12 Hopi vases that held corn, are put in museums 105. Amphoras, vases and pitchers are metaphors

but you know they were made to be used. for

The pitcher cries for water to carry (1) useful human labour

15 and the person for work that is real. (2) pride in wealth

(3) items of luxury

(4) antique art
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Directions : Answer the following questions by|110. While selecting a reading text for you

selecting the most appropriate option.

106. Anshu is teaching English to class VI students
and her class seems to be noisy. She is
probably

(1) teaching a crowded class.

(2) not bothered about the noise.
(3) having group work.

(4) not able to manage the class.

107. A method is a body of

adopts in the teaching-learning process.

that a teacher

(1) techniques
(2) pointers
(3) principles

(4) norms

108. One of the objectives of teaching vocabulary is
not to 112.

(1) be able to use words in different contexts.

(2) enable learners to use the dictionary.

(3) understand the meaning of words.

(4) develop active and passive vocabulary.

109. A passage explaining a place in such a way
that a picture is formed in the reader’s mind is [ 113.
called

(1) Expository
(2)  Argumentative
(3) Descriptive

(4) Narrative

111.

students, which of the following is [lea
important ?

(1) It is appropriate for their age level.

(2) It hardly gives space to think aheac
hypothesize and predict.

(3) The language of the text i
comprehensible to the learners.

(4) The content of text is accessible to th
learners to apply their own backgrounq
knowledge.

Giving effective feedback to the learner:
means

(1) diagnosing problems and guiding the
learners on how to improve.

(2) giving appropriate time and space for
corrections.

(3) focus on positive aspects as well as areas
of development.

(4) correcting their mistakes in the class.

Which one of the following recommended the
‘Three Language Formula’ ?

(1) National Policy on Education 1968
(2) National Policy on Education 1986
(3) Kothari Commission 1966

(4) Chattopadhyaya Commission 1985

Which one of the following should a teacher
not use while initiating the process writing
approach ?

(1) Drafting and revising

(2) Proof-reading before final draft
(3) Brainstorming

(4) Dictating notes
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114.

| 115.

116.

117.

Point out the figure of speech used in the
sentence given below :

The moon smiled at the stars around her.
(1)
(2)
(3)
(4)

Metaphor
Oxymoron
Personification

Simile

Active vocabulary consists of words which
(1) we use frequently in our daily life.
(2) are difficult.

(3) we recognise and understand.

(4) we use occasionally.

A purposeful collection of students’ work that
demonstrates their efforts, progress and
achievement in a given area is called a/an

(1) Anecdotal record
(2)
(3)
(4)

Checklist
Rating scale

Portfolio

Every class is a mixed ability class, so while
dividing the students into different groups for
a language activity a teacher should

(1) give students different tasks according to

their strength.

(2) arrange groups differently for different

kinds of activities,
(3)

put weaker and stronger students in
different groups.

(4) mix weaker and stronger students.

(47)
118.

119.

120.

Constructivist approach to learning does meé
emphasise

(1) that authentic task in a meamw

context should be used.

(2) that learners construct knowledge for
themselves.

(3) knowledge construction instead of
knowledge reproduction.

(4) teaching as the transmission of
knowledge from the enlightened to the
unenlightened.

A learner-centered class should not be one
where

(1) the learners should do the given exercise
silently as silence is better for learning to

occur.

(2) the learners are intrinsically interested

and are inclined to explore.

(3) the teacher acts more as another

participant in the learning process.

(4) the learner’s personal views and feelings

are taken into consideration.

Summative assessment is

(1) assessment in learning,

(2) assessment as learning.

(3) assessment for learning.

(4) assessment of learning.
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Candidateg should
from the followin
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LAN GUAGE - 1.

answer questions
g Part only jf they
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Candidates should answer questions
from the following Part only if they
have opted for EN GLISH as
LANGUAGE - I1I.
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Directions ! Reaq the Passqge &Stven beloy and 121, What IS ironje about OUr pride in' oup

Scientigtg ?

‘ Cared for the talenteq and Meritorigyg 2. What happens to our best SClentigtg »
‘ There ;¢ Some  truth what they gay. @) They 8¢t governmeny 8rants
OWever, by and large, Compareq ¢, the Situatjon (2) They start teachmg in collegesg
b before mdependence, 8overnment¢ assistance hag i
Provideq , tremendous opportumty for higher () They St doing research
educatjop If today n ian scientlsts, technologists (4) They don’t get Tespectab]e Jobs here

abroag
Tesearch ang deveIopment n the Universijtiag and

the fational Rgp !aboratones We believe and @ F Oreign Scholars are teaching our
appeal tha Scientigts, Tesearchepg and scholgpg UMversitieg

shoulq shed thej, Pessimigm There are many (3) The SClentists gpe 8iven Pagp, award

We know the Problemg they face, eSpecial]y
the Younger Ones, ang also those Who are not in
Positiong of bower in these institutions, the S0-calleq
midd]e leve]g and the lower levelg, We @ppeal to
these People tq think big, becayge they are the only
Ones wh, Understang the forceg of teohnological
rnodernization and the new énergieg that tan he
unleagheq througy technologies. They alg, have tp
Capability ¢, absorp the knowledge base which jg
Browing n¢ an explosjye rate,

(2) we bPay them wel]
(8) we offer them limijteq opportunities
4 we offer them excellent opportuniﬁea
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125.

126.

127,

128,

129,

(55) E

The writer wants our scientists to

(1) go abroad to make a living

(2) be optimistic in their attitude

(3) become part of the scientific community

(4) be pessimistic in their approach

Which one of the following is true ?

(1) Our scientists are respected all over the
world.

(2) We have the best research facilities in
India,

(3) We care for our scientists,

(4) Our scientists are not talented.

The writer makes an appeal to

(1) neither the middle nor lower level
Scientists

(2) both the middle and lower level scientists
(3) the middle level scientists only

(4) the lower leve] scientists only

The phrase, ‘at ap explosive rate’ means
s R G

(1) at an abnormal speed

(2) at normal speed

(3) at a great speed

(4)  with the help of an explosion

The word Opposite in meaning to ‘unleashed’ is
(1)  controlled
(2) unfastened

(3) inexpensive

(4) uncontrolled

Directions : Reqq the passage &tven below and
answer the questions that follow (@Q. No. 130 to 135)
by selecting the most appropriate option.

My heart grieved when I read the other day
a news item that more than two-thirds of the elderly
are being ignored in their twilight years. They are
isolated by their own children and are experiencing
loneliness in their present lives. Most of them say
they are not being respected or given good treatment
by their family or society, and they are being
discriminated against in their old age. Majority of
the elderly attributed their loneliness to no or little
interaction with family members. With fast
changing s0cio-economic scenarios, growing nuclear
families and changing value systems, the needs of
the elderly have also changed. The most common
problems that the elderly face are __
marginalization, lack of love and affection from their
loved ones, little or no access to medicines and
healthcare, finding it difficult to secure their life and
property. They have ng work opportunities ags a
result of which they face financial problems. They
suffer from restricted mobility angd have
psychological problems on account of loneliness,

To improve the situation for the elderly, the
Government of India may consider enacting a law
like many other countries have, to make it
compulsory for children to maintain and Jook after
their parents and also establish the National
Commission for Elderly Persons. At the same time,
the fact remains that the real compulsion has to
come out of the bonds of affection between parents
and children. We woulqg not be wrong in saying that
in India the joint-family System has made a
powerful contribution in cementing the bonds of
affection between the old and the young,

T —
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130. The twilight years are when one is Directions : Answer the following questions by
(1) middle-aged selecting the most appropriate option.
(2) old 136. For process writing, which one of the following
(3) achild points should be followed ?
(4) ayoung man (1) Use of personal pronouns

(2) Word limit

131. The elderly d t feel
s -t (3) Logical sequence

(1) respected

(4) Organisation of points
(2) discriminated against

(3) lonely 137. Problems of spelling errors of the students ca

(4) ignored be easily solved through
(1) dictionary
(2) dictation

132. What the elderly do not lack

(1) is security of life and property (3) teaching aids

(2) islonelinessin their lives 4) textbooks

(3) are love and affection

(4) are medicines and healthcare 138. is a prerequisite to learning
language.

133. Only can keep the old united with (1) Motivation

the family. (2) Knowing words and their meanings

(1) courts (3) Knowledge of grammar

(2) social compulsions (4) Reading stories

(3) joint-family system

(4) government rules 139. Cognitive Code Approach focuses more
134. Which of the following is false ? (1) vocabulary

(1) The old love to live in extended families. (2) spelling

(2) The old are not very mobile. (3) grammar rules

(3) One’s needs change when one gets old.. (4) pronunciation

(4) Most old people are financially secure.
: 140. According to which one of the follow

135. Which word in the passage means the same as linguists, language cannot be sub standart

‘saddened’ ? may be non standard ?
(1) isolated (1) William Labov
(2) restricted (2) Stephen Krashen
(3) grieved (3) Chomsky

(4) ignored (4) Basil Bernstein
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141. Which one of the following is not a language
component ?

(1) Structure
(2) Secript
(3) Vocabulary
(4) Sound
142. Decoding stands for
‘ (1) deciphering the sounds in words and
sentences
(2) only recognising the difference between
sounds
(3) failure to understand the given text
(4) passing on a message to others
143. In order to improve the learners’
' pronunciation, a teacher firstneedsto .
(1) use recorded model of sounds
(2) show the documentary/films of the target
language
(3) ask them to read more
(4) do pronunciation drills
144. Intensive reading stands for
. (1) reading for enrichment of vocabulary
. (2) reading for developing literary sensitivity
' (8) reading the text in parts for details
(4) reading for pleasure
145. Scanning is a reading activity which helps the
learners to from/of the text.
(1) draw out information
(2) develop competence in the linguistic
items

(3)
(4)

know the meanings of the words

enrich the vocabulary

(57)

146.

147.

148.

149.

150.

A good listener can
(1) correctly respond to every question asked
(2) pronounce each and every word correctly
(3) understand how to spell a word

(4) recognize how intonation is used

Constructivist approach to language learning
promotes

(1) a child-centred approach
(2)
(3)
(4)

a teacher-centred approach
culture of silence

classroom noise

is the father of modern linguistics.
(1) Bloomsfield
(2) Chomsky
(3) Chaucer
(4) Ferdinand de Saussure -
A phoneme is a
(1) technique to improve pronunciation
(2) sound pattern
(3) lexical item

(4) single sound unit

In order to have language proficiency, which
one is not essentially required ?

(1) Efficiency
(2) Appropriacy
(3) Accuracy

(4) Fluency
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Candidates should answer questions
from the following Part only if they
have  opted for HINDI  ag
LANGUAGE -1II.
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10.

1 1 8

12.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on
Side-2 of the OMR Answer Sheet. The answer once
marked is not liable to be changed.

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer
Sheet.

Handle the Test Booklet and Answer Sheet with
care, as under no circumstances (except for
discrepancy in Test Booklet Code or Number and
Answer Sheet Code or Number), another set will be
provided.

The candidates will write the correct Test Booklet
Code and Number as given in the Test
Booklet/Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the Examination
Hall/Room.

Each candidate must show on demand his/her
Admission Card to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his / her
seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet
twice. Cases where a candidate has not signed the
Attendance Sheet a second time will be deemed not
to have handed over the Answer Sheet and dealt
with as an unfair means case. The candidates are
also required to put their left-hand THUMB
impression in the space provided in the
Attendance Sheet. )

Use of Electronic/Manual Caleulator is prohibited.

The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair

means will be dealt with as per Rules and|

Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.

On completion of the test, the eandidate must
hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed
to take away this Test Booklet with them.
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